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PART -1 (4177 - 1)
MENTAL ABILITY TEST

A dirger qfeo

Questions : 110100

1, In the guestion below select @
figure from amongst the four
alternatives, which when placed in
the (1) of figure (x) would complete
tho pattern,

Identify the figure that completes

the patie FIL.
9
J.J o

Sl

1 ¥ ‘
{}.-:JL (3) ()

2. Which option
question mark (7 in the figure

given below 7

replaces  the
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1. 30 B & g W e Ferizst

i & ®m W owma
TR A () B g 3

O] o e B

(1) (2 {3 {4)

2. AE RBU o @l & e e
o B (7)) F v gr o 7




4. The following questions are based
on letter soriod in which some
letteys are missing. The missing
letters are piven in a proper
aequence as one of the allernatives
among the given four alternatives
under the guestion -

b—abhyp—Hhea Bheaph——ab
(1) acaa {Z) acha
cabe {4) ecace

4. At what. time between 7 and 8
Oelock will the hands of & clock be
mn the same straight line but, not

together ?

1 |
) b min. Past 7 @

3 7

(2) ‘5— min. Past 7 6 . .
1] '5—'1 *#U] J'.-

{3) Erﬁ min. Pasl 7 SE 'y
i :

(1) ﬁ'ﬁ min. Past 7 Eu.w\.iupﬂ-#

5. How many quadreilaterals ave

there i the given figure ?

/ﬁﬁ/’ﬁ @ 11

(3) 12 (1) 13
NTSE(Level-1) Exam. Nov. — 2018

HH /LB L L )
§ g & Ry g famed AR o
B U Wl wgp sien Rwd Raw
LG Al e e -
b-C-ahbe-2 bhea-Sbeabh-Eah
(1) acaa (2) acha
(3) cabe (4) cace

&; ?Eraat%%ﬁrﬂﬁmmqitrﬁ
# gl "F A T o el o
UF GH & T TE 7
{1y 7 9987 & e oy
(2) T qoa 5-?1- i 43
{H}TWE:—‘;- e 1
(4) 7 T 5%54‘4?%

5. @ T gl F g PR e ¥ 7

(1) 10 (2) 11

(3 12 (4) 13



6.

_rFaMsK

Select a fpure from the given four
alternatives, which placed in
the ()

Problem Figures:

= TR
//;'f‘-x"'!
"-..\-" ?'

Y

Answer Figures |

= LA _.-"

| ﬁ*

ﬁ
{EE?K‘@{& A1

If B3D means B is the father of D
BAD means B is the sister of D.
B4D means B s the brother of 1),
B3D means B is the wife of D

Which of the following means F is
the mother of K *

€M
(2) FOM3K \l
(3 FOMANIK N

(4} FAMANIK
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(5)

c

6. R g A R & A A e

e [AEH & e 0 s 7

e orply o
[P
EaN
B g
N
FHT EE
= = ,.-"|' iJ
AlA| 4|2

i) (2) (3) (1)

. ﬂﬁﬁutmméﬂlﬁﬂhm?l

BoD & &9 B, D 41 957 2|
BAD F &9 B, D ¥ Wi & |
B3D #1 &4 B. D # uel B
fhereer ol B fF F, K &1 wienr & 7

(1) FaMbK
(2) FaM3K
(3 FaM4NIK
{4) FaM5N3K

. P.T.O



8. Statement: Some
staplers.  Bome Are
stickers. All the stickers are pons.

koys

ara

ataplers

Canelusions

‘{‘q,-_-_.f

I. Some pens are staplers,

I, Some stickors are keye. Jf
[TI. No sticker is key. 1‘{:"2.._
@ IV. Some etaplors are keys, o/
{1) Ounly (1) and (ID
C@ (2) Only (ID) and (IV) ;
O (3} Only (I} and (I1D)

K

.;-‘fﬂfﬂnlg.r () and {IV) and either
_{Il’} or ([11)

In the question given below, find
out the alternative which will
replace the question mark ?

128 13" 286 : ¥ ’.2’?*1;
Hy i
ﬁ%

(1) 23°
(2 3n W% :
.it.“';,r.r;'-",:':"'~
(3) 25% o P 4
S
[4 :]H- & iﬂ-‘ \E/"‘J
PN %

\
t:.j;va ,f//{;rg
NTSE(Level-1) F}/ﬁ@v. —\Eﬂl_{g‘:’

8

THA ;o qE A, v §| oge
w0, st B ol fem, T B

fray -

L e, 2wt

1. %@ fizgr, afig) § |

1L ®i3 o fespr, ol 7t &
IV. 3@ R el §)

(1) = (D 7 (D
(2) Fad (1D T (1V)
(3) @ (10D T (1D

(4) Fa (D) @ (IV) 7 (1) 71 (1)
18R

Ry au Bwedl 4 8 f9-m Bww
AEEE BT # ™ g9 anmn 7
123 : 1:1";:- 253659

f1) 128

(2) s"ﬁ’

(3) 257

(4) 25°



Direction : (Q. No, 10 to 1§)

There are eight persons namely A, B, €,
D, E, F, G and H lives on eight different
floors from one to eight, Ground foor is
number 1 and top floor is number sight
but persuns do not necessarily live in the
same order. Only three persons live
below the fioor on which E lives. Two
pereons live between the floor on which
E and H live. More than one person live
between the floor on which E and A
lives, O lives immediately above G. C
lives on odd numbered floor, Only one
person lives between B and F. B lives
one of the above floor on which P lives. D
lives on even numbered floor but net on

2nd floor.

10. Who lives on floor number eight ¢

1) B 2 C \
(1) ) % g'
A @D -
Bl o€
11. How many persone live hn(gcwn
FandA? ~ ‘:’?“
(1) One (2) Three §_
(3) Five M‘w-u:r

12, Who lives immediate below (3 ?
(1) B e d
() A (4) E
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(7)

o

fAd3r o (Wo He 10 A 13)

3

&
ﬂ'ﬁﬁ‘iﬁlﬁﬂﬁmﬁl{:iﬁ‘-fﬁﬁ
T [ g 21 B @ F & g § dag
W A WA 3| B, F ¥ 3w ou% b
BIEFT e B D W qPm s ey 6w
i T R TR

10, &S ¢ o) faE O 25w ¥ 7
1 B 2 ¢ ﬁ,?
@ A “4) D W Y =0
. b
1L T A 3 A P i w47
EiLS =
(1) w @) c-Y
(3) = (4) & g
12. G #Rep MR wnz P =D
(1) B @ H I_-ﬁ
3 A i1y E




c (8]
13. Who lives on third floge ? 13, dRelt oo g7 T £ 7
N ) ¢
(2) F (2 F
(9) B (H E
(dy 0’ (4) D

14. How many numbers from 1 e 50 14, 18 50 i H el if it Ehg
are there gaclh of which ig nol only H"'!EITE? i TE 4 H ﬁ“l’]ﬁﬁ-r Bt E
exactly divisible Ly 4 byt also THT 6 e o i 4 o 50
contam 4 as a digit in jt ? k::—; /r’%'l ;

o,
; 3 ; 34
(1) 5 Jff’ WwoWa (2) 4 $
@ 7 (4) 8 ';"_:"qk (3 7 () 8 ’ﬁ
g b .
1% Group the given 9 figures MGYES 15, T 9 SR A w3

three classes using each figure 4 S I L (O - T
emly onee - %&f’? I B @ e 2 AR
L AT P o i
1 a 1 2 LK
=BT =P
T i g 7 | ¥
A 1,8,9.256 478 l (1) 1.3,%256 4,78
(2} 1,3,9,27, 8 4.5 6 (@) 1,383,929 8 4.5 ¢
W 12,4 88 7 G, 8 9 (3) 1,2 4; 3, 5, 7: 6,849

(4} 1,3.6; 2. 4. 8 5,79
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16. Choose a figure which would most

17.

18,

n EY (4]
H72=5and ACT =48 Lhﬂnr_HJ"LIT
will be equal to - ‘I

g - ?‘&

(1) 39 W 8 Y
2) 41 Bhe My
(@) 44 i
1o . po
2

(9)

closely resamble the unfulded form
of Figure (Z).

Eﬁ“&i}@%iﬁ

Arrange the following words as

——

Tl

per order in the dictionary -

{1} Torloise (¥} Torrid (3) Torso
(4) Torque (5) Tortuous

Options :
__m":et. 2:4 1,5
(&) 3, 2 4, l,ﬁ{
(3) 2,3, 4,6, 1 AL

(4 43,2, 1.5
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16,

17.

c

afe o) 2 ek W () F =
a A fBu o Rl § @ g@E-
g w7

EEXE&’B@

(1) (2} ()

uiE % = 62 #4 ACT = 48 T BAT
AT B

(1) 39

(2] 41

{3} 44

(1 46

18, F=fafas =i 3 gedw § 7By m

F H STIE T -

(1) Tortoise (2) Torrid (3) Torso
(1) Torque (5) Tortuous

[y

(1) 4,2, 3,1, 5

() 3, 2,4, 1.5

(3 2,3, 4,51

(4 4,3,2,1, 5

g 3




(10}
19. Select a figure from the given four 19, 6 Few & FRL T HeTEES e
altornatives, which placed in the () & e T TER 9T FTeERETL S
(2} which complete the pattern - g O A -

Problem Figures:

e oo
| k

(=)

s,

(x)

Answer Figures:

FEEd | E R
d{ ) ) Q. @

(3 (4}

ﬂu.ﬁqmﬁﬁﬁfﬂ'ﬁaﬂﬁcﬁqaﬁ

20. Pick the odd one oul among Lhe
ofer, i e T # o=t B -

fullowing oplions -

(1) Quiet - Calm (1) 99 - 9

i
() Seldom — Never (2) FH wH - ] 8
1 ] |:.
Tranquil ;a(ﬁ% - ai

(4) Rapid — Slow
B

(3) Peace

NTSE(Level-1} Exam. Nowv. — 2018

R



21. Chooee the picture that would go
in the emptly box so that the two
bottom piclures arve related in the
same way as the top two are
related -

-
B - ()

(1) {2 (3)

A
Direction : (Q). No, 22 & 23)

[n & quiz competition oul of H80
participants, 224 choose Mathematics
240 choose Science and 336 choose
Sports, 64 choose both Sports and
Science, 80 choose Mathematice and
sSports, 40 choose Mathematics and
Science and 24 choose all the three
subjects,

2% The percentape of participanis

who did not choose any subject is ;
(1) 23.59
L
_{2730.25
(3) 37.46
4y 27.27

NTSE(Level-1) Exam. Nov. — 2018

Cc

fiw T el § @ o e @ st
ot @it g § w3 0 3 2
M & ad T 8 oA e B e
% ar fesf H B

£ |
iy 2

0L — WA=

{Z) {3} 4]

fder ¢ (Wo fio 22 ug 23

TH mEd ofeaie § sso ofEn @

224 1 T Bew g 240 A Ree aw

sdh%é’r-ﬂ 64 1 BEN du dw g9
%ﬁﬂr@ﬂﬂﬂ’fﬁw, 40 A

nﬁrﬁﬁﬂrﬁﬁmﬁ-ﬁﬁﬁa'ﬁwm#

. A Rt 2o

22, R oftem ofedbdit 3 2 4 fug
qE g 7
(1) 23.50
{2} 30.25
(3) 87.46

(=) 2727

T




(12}

23, Of those participating, the
percentage who choose only one
guhject 18
(1) 80

r—f(‘fﬁ Move than GO
{3) Lass than 60

(4) More than Th

94, A clock is set right at b AM, The
clock loses 16 minutes in 24 hours.
What will be the exact fime when
the clock indientea 10 PAM. on

fourth day ?
(1) 11 P.M. _,{2;‘"1'2 P.M.
(3y 1P.M. (4) 2P.M.

96 Count the number of cubes 1N

followring ligure -

(1) 63

/gzﬁm

{3y 70

(4} 71

NTSE(Level-1) Exam. Nov. — 2018

9s TR umew sREfE 3 dEE O
fra AT ¢

{1} 60

(2) 60 8 AE
(3) 60 § =4
(4) 75 | S

94, T W | WA GEE 6 o9 Tel S
mar| o w24 g 16 e 9w
2w A, A 99 W aREEE
a1 e, @ EE o = @ 10 P
G i

(1) 11 P.M. (2) 12 P.M.
{3 1PM. (4) 2 P.M.




26.

27.

By using vour pumercal and
logical reasoning skills please try
to find out which number is
missing in the question below, The
numbers avound will give vou Lhe

clues you need to solve the pugsle -

Choose the altermative which is
closely resembles the mirror image

of the given combination,
QuaLty Y T | 1 AVE

(1) ONVTILA &

(2) YTLAUQ T

a7 YTLIAUD

(1) YTUAND g‘\‘_

NTSE(Level-1) Exam. Nov. - 2018

c

26. W HETEE T oaHa fwe w5

a7.

9N FAE U 9 amee B R o
95 F aie-E e oge O e &
U OB T O I R
Hemral f o e Ay -

(1) 9
(2) 4
{3 5
(4) 6

Bu m RBeedt § 7 aw fe o
Biel &t B QUALITY @1 adw
ufafer €

{1) ONVTILA
i2y YTILAUGQ
(1 YTLIAUD
4y YTIIAND

P.T. O




28,

29,

Arrange the words given below in

a mesningful sequence.

-y

. Probation
2 Interview

Selectinn

L

4. Appomntment

9

3. Advertisameort

=

&pplt:,al..nm

AT/'iESE-#l

(2) 5.6.4,23.1
(3) 5,62 84,1
(4) 6, 5,4,2 81

In the guestion below, Lwo worts
are given. These words are related
to each other in gome way, You are
requived  to find  out  the
relationship between the first 2
words and choose the word from
the given alternative, which bears
{he aame rolationship to the third
word.

Malarin
(1) Wound
{2) Sword

Digease ; ; Spear : Y

Muupun

(4) War

NTSE(Level-1) Exam., Nov, - 2018

{14}

25,

-

STERNCE 5 O R
aif |

L, yFidm (A% svamE )

&, HTHRR

3. g

4. Fraf

5, T
6. SITEET 7=

xr{fﬁ, 3,2 -_1.‘1|1

‘.2:' F-"-. L:lh.
(3) 5,6,2,84[1 A
() 6.5.4.2,3{1 K

4, 2,81 ™

; ﬁuﬂqﬁ#ﬁa‘rﬁﬁqmﬁﬁsﬁm

AE ¥ A v W a3
e O R L B T G
m Fewl ¥ @ 99 s @ e
ﬁﬂﬂﬁﬁ‘ra‘i‘arﬂ%ﬂﬂwrﬂﬂl

L | R 1 | B

(1) HH
(2) REr
(3 B
(4) 93




(15)
30. Below wvou are served with four
different type of Venn diagrama
that indicate f definite
relationship  between  Tennis,
Rugby and Soccer. You need Lo
find out the diagram which is tha
most relevant -
o (B
O
2 SO
@
® QD
31. If M%N means M is the son nf'l'ﬂ'.
M@EN means M is the sister of N,
M3EN means M is the Father of N,
Than which of the [ollowing shows
the  relation thar C s
granddaughter of E 7 5 ovh
O{{l}ﬂ%ﬂﬂ:‘-l"ﬂi}iﬁ F:’ ¢
| |
(2) BEFSE % C O ’/55, :
w5
Hﬁfﬁ@E%F%E s
M) B%BSFSC

NTSE(Level-1) Exam. Nov, - 2018

C

30, F@ =7 Fre-fes 39 @rE Bo o

31.

& ot ¥, T o g & ey
F wEiE ew ¥ ool & e o
g afEa g4y #1 mEa Fa v

aF M%N T A MN & 97 8
M@EN &1 &8 M,N % 4957 &)
MEN & @ M,N & [ &

A Fefaieg & § F9-8 TEy &
e O,F & deh k7

(1) CHBEFSE
@ BEFFE%C
(3) C@B%F%E

(4) E%B$F§C
P.T. 0.




C (16}

92. Figure below represents 4 balanee,

which symbol replaces (7} -

) 5 B VAN
A
QOO0 h
W AL

(&4 &

@ )

w [

vl

3% Pind the number of triangles mn
the below figure

(1) 20

(2) 22
(33 16

/ﬂﬂ

NTSE(Level-1) Exam. Nov, — 2018

12, 99 & fm # o% qm A 0 R,
g fag & W 97 FE- R
(weftes) T o e B 7

QO M - AN
WA ﬁomm
99009 2.0
a AN

AN

@ O

w [

33, @ T gl § By @ den B
7

(1) 20

(2) 22

(316

(1) 28




(17} L
#4. Choose the corract option which a4, RBu o faeed § @ $-wr RBEe
would complete the figure (x) AR (k) I T A3W 7
?
a1
/ § (1) () @ W
36. Choose the alternative which 35. DISC = gyl ¥ & ufmfrm ﬂ:r_'[TIII
closely resemblos the water-image e el F 8 gt B g
of the given combination.
SIEG
12is
(1) CS8ID (2 OEla (1) CSID (2 a1
1&‘{;" DIEC (4) DISE (3 DIEC () DISC
36, Select a figure from the given four 36. A BT oM Bwen § & g
alternatives, which placed in AET wyrEEE B % omm ow
the (7} ) 7
Problem Figures : e il -
L -‘\‘I ?
(x) )
Answer Figzi!iea: FH7 Wﬂ : =
. 2 . 4%
& - m ® @ o

};}\“:‘ (2)
NTSE(Level-1) Exam, Nov. - 2018 P.T. D,




c {18)

37. Solecl a suitalle figure from the 37. Bu m an Feed § a9 e #®
four  alternatives that  would 'E{FIQ o e el ol qu W

complete the fgure matrix -

< &

i
ok ol i 2
L2/
?

Q@
:

kel |0
E

=

LS

o a0 \f;; | B |
(1) 24 )‘ 9& (1) () @) W)

EH

38. Ten years ago, the age of mother 3B, 59 g4 gl HiE] # | A LE| il
was three times the age of her son, #IY #t v il ) T\ ad usEE
After ten vears, mother's age will 1 H AT o= il HIY, W
be twice that of his son. Find the '-’:'l'ﬂ"ﬂ B oyt | 2 adEe A i
ratio of their prosenl uages - T A £ 7

D
(1) 11:7 "iik (1) 1137
M Eﬁ\f 1 b
' A ' it (2) 9:56
T __“__-_
@) 7:4 i (@) 7:4
j, & A<
- 'F- ¥
4y 7:3 : -b-;,a_f’ . (4) 7:3
g RL-
"_'{,*rL e -
il
i
NTSE(Level-1) Exam. Nov, - 2018




{19} C
39, The given figure (x) has dots thal 39. W N Hgh () ¥ By B o gm ot
fulfil same conditions. Find out a H T H B fu ,%Q eyt f &
figure from the alternatives where : 5
if dots are placed they will fulfil 3 sgl 9w PR AR Ry @ od

the same conditions - GUEER:C B ax Hl -

{x) {%)
T/ B
i
/fﬁ( L () ( £
B
@ @ (2)
@ m () .ﬁga

(4

40. In a school 80 students have 40. oF Pumm J 80 Faidgt 5 d g

registered for a singles catrom e W A J el s |
tournament. . Each match TR e ¥ uE fEwE awr e
eliminates one player. How many e ® | mdfEe Pt w9 3 R
matches are to be organised to PR a5 g P
determine the champion ?

(1) 40 e (1) 40

(2) 41 1

qn @ (2] 41
47 79 19 (3) 79

(4) 80 “":: %ﬂ,’ (4) @@J

NTSE(Level-1) Exam, Nov, - 2018 F"‘ — 2T 0
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41.

42,

A monkey climbs 10 metres at the
beginning of each hour and rest for
a while when he slips back 0
metres before he agmn  starts
elimbing in the beginning next
hour. If he starts climbing al 8 a. m.
nt what time will he first touch the
flag at 50 metres from the ground ?

(1) 4 p.ow
(2) Hp.m.

m

(4) 7p.m.

the
indicates

Which of

diapgrams

following VYenn
the  besl
relation between Travellers, Train

amnd Bus ?

(1) @O
2) Oé:)

@ (LD

#09

NTSE(Level-1) Exam. Nov, - 2018

43,

oF deT WAE €2 b ¢E § 10 He
Croiih S e G
ﬂﬂﬂ%\qﬁﬂﬂﬁﬁi‘%ﬂﬁ{ Bl
e e T B

wiE B A% A8 8 A9 Wi FE 4
a1 A 60 et wa w8 R a9
e Ta U

(1) 4 pm,

(2) bpm
{3 6 pm.

4y T p.m.

HA-H 49 oitE TE, (eems) J an
% ddy ) Rl AR 7

(1) @D
o QO

@ Q0D

e




(21)

43, Six sides of a cube are coloured in

the following manner

H]“": TR
White %] | Biack §

Blue and Orange are opposite and
Red is on the top which eolour will
he at the bottom *

(1) Black
(2) Whita

(1) Orange

fﬁr";:'e!luw

44. The numbers have been arranged

under some rule. Based on that
rule, which number will come in

place of the question mark ?

e

l?
-ﬂi A7, 44,1
(0 1wz 4

3
/&{H.M = 4
(3) 125

{4) 110 I.Li

NTSE(Level-1) Exam. Nov. - 2018

C

43, UF @ & 6 Y= 7 o aEEn o

R o F
i
B T ‘E

L L el e e A B e
LT (R L B T 1
% % 9T Hi-41 7 gy 7

(1) Wl
(2) W
(3) #Heid]
(4) I

44, #Ent T fem f oo o ft

&

wd %1 adl P F om0 gearr
frgr % we W Al e
o B

4,5, 8,17, 44,7

(1) 102

@) 104

© 1 (3) 125

(4) 110

P T, 0.




C (22)
45. Direction : In the following R e L
question  insert  the migsing I feesg 9T o fam o e
number in place of question mark q et = & W T am H |

from Lhe given alternatives.

G 40
5 AB
7
(1) b4 i (1) 54
(2 70 %‘ (2) TU
BT @ 72
{4} 80 (4) 80

46, If '« stands for ‘addition’, ' 16, W% % & oR| ‘E, < & A

stands for 'subtraction', '+ stands e § R, # e
for 'divigion), "> stands for L A e arE B 4
‘multiplication’ ' stands for 'ogual g > oam = o e R 1 =i
to', '+ stands for ‘greater than' and Frpeitfiare ¥ & FE-H wll B 7

= arands for ‘less I.lhan'-, state
which of the following is Lrue b

mgiﬁ.—w;%_w{—ﬂ B () BxZ<4+16=2+4
{2}‘.3:-3+E=1H-c:4:{3 l %f (2] o2+ 2=10=4x8
(@) ax4>2-9+3<3 \ "! {E (3) Ax4>2-9+3F<3
() e 3<T+8+4x1 {rl}ﬁxﬁﬁ'f%!'!u-'r-ﬂrxl

NTSE(Level-1) Exam. Nov. - 018



(23) c
I

47. Select a suitable figure from the 47, B m 97 Ree B an o Ree
four alternatives that would =l Eﬁ’l‘q At e GIFE TR VRG]
complete the figure matrix =1

- Siis
-

=
=
T

() (0 {4

o oo E =54 |
() {4} () (4

48. What number will come next in 48. &1 7w § el den e @ o7

the givanlserics 7
e

36,34,30,928, 24,7 a6, 04, 30, 28, 24, 7
(L) 20 AR (1) 20 (2) 22
(3 23 (1) 26 (@) 23 ) 95

49, Seema started early in  the 49. # gEe-g9E w4 & gEw W
morning on the road lowards the T W FE B HE HHY qEE
Sun. After-some time she (urned Cofw e WE 3l 3-5 o +E W94
to her left. Again after some time WA T8 AU &1 AN gE A R
she furned o her rvight., After HE [ﬁ ™ W F ugEn 06 il
moving some distance she again WP 419 WY 92 WRY R AW e
turned to her right and hegan o iEs T Q,Eﬂ | B0 Ov4 3% B
move, At this time, in what RrAdamw @ b7

direction was she moving ?
(1) South North-West (1) & (2} F-ifEm

./fﬂj/‘l‘;unh--ﬁﬂsf (4} Easl !\/ () m‘gf{' (4) TI
NTSE(Level-1) Exam. Nov. - 2018 ’”

9

P.T. 0.




EO. Which of the [llowing is the
mirror image of the figure (X)

v Y

o,

(M - o

¥
.

/

{5

ZaN

3

()

Direction : (@ No. 51 & 62)

Which ene of the answer figure would
pceupy the next peeition in the problem
figure, il the change pontinue in Aame
arder. '

51, Guestion Figures:

(@Ealle)
EnLAR;
(13 yl/ (3)

NTSE(Level-1) Exam. Nov, - 2018

Ansteer Figures:

l@%
2\

(4}

s0. & T amR (o @ fe § A T
oy sfafers w8 7

Fdr : (w0 Ho 6117 52)

o o SRR W A A Sad T
s W gt S A @Al g
£=i Tk

51. WG9 SIHT -
AEBIE
get omphy -

Sabl

(1) () (3} (4}




i

63,

Question Figures ;

O i | =

—-_-g—-@—_mﬁ—‘i‘

m @ G e

Which number replaces the
guestion mark ?

5 i1
irl 4 3 2
8 "
4 1
B : & | 4 b2
(1) 9 i 1
(= 12 (4) 13

There are two statements given
helow as promises, which suppart
the conclusion suggested in the
answer options. You may select
the conclusion Lhat makes the
whole argument valid.

Statements :

[. Nofilm actors are cricketers,

I[I. Some crcketers are poets.

There fore :

(1) Some pocts are film actorg, b
Some poels are not ﬁlm actors., |

(31 All poets are film actors, P

(4) All Blm actors are poets. &1,

NTSE(Level-1) Exam. Nov, - 2018

(25) c

52, WET I
| | — | -
o e -—-';Eh— — s,
I gl -
= O =
——| e | 5% —=

(1) () (3 (4)
53, 09 FEA § mF W AR g

et
2 1
T 4 i 2
] /8
5 1
5 a ] &
B ?
(1} & (21
3 12 (4) 13

54, A ofwemed & w9 # &) #29 RBo
%31 C I O o B A EE

Frewl g @Fd B oA wydl a% @l
H A A

7
BT

L i e afEam et T8 B
1L %8 &t Fi4 )

i

(1) %5 F Fee s ¥

() B Fa e afeda =5 &

oy Tt Ff e e ¥
g4 e afa w7 §
P.T. O,




c (26)
63. On what dates of April, 2001 did 55. @hw, 2001 ¥ BB B o
Wednesday fall ? 9T o7 7
4 1% gk
() -~ (1) | 16 220
ﬂﬂ.l-h
H; '_ 3r|1 II-JIB: . _-,gl'ﬂ 1ot
- (2) 17th 24tk (2) 177eh 24tk
T B =
B
-Sé\:_ . aud gl
> o (@ | 160 230
B0
"1-Ih ”m ﬁ!\ 4l ih
4 4) H
4 18th 2hth i : | 8th 25
B6. The roflex angle between the 66. 10:25 9T 98 # wddl F mEw A
hands of a clock at 10:25 s - (reflex angle) W7 v 57 8 2 7

(1) 180 {1} 180=

. 1! :
(2 192% O\ &“ y {2) mz-‘ﬂ_
-3

M‘& A9 uﬁ (3) 195°
= .

]‘:I L‘q.t'r H]'r\-

(W 197 El&};g () 197

¢ 8

NTSE(Level-1) Exam. Nov, - 2018 '15 c.’
—




5.

is married to a teacher and has F FEw v gafm o g«iﬂ omn
three sons, ome engineer, one T it g E, B § o i,
docter and one actor. The actor's ok T o us A E | e
wife is a dancer and awnt of Emily. | # el 0F e & 9 ofeell S aE
Emily, the daughter of engineer B ool o @ geibee A R
learns maytial arts with her AN WE OGET F UM W F
brothor Joseph, How is doctor dledl 1 g @ AEE § Eng =
related to Joseph 7 .?_ I""l Y g7
(1) Son (2) Brother /';: (1) (2)
[ —
(3) Nephew  (4=Tncle (3) veitem (4) =
d e act
59. Which number replace the g:(n'ﬂﬂ'q EET & ®F W - e
question mark in the figure give e AT 7
A ':1‘&' below 7 g
'%,; . q ING g | “"""“ | 3 aNg q
] RBS 9 anh k! RES g |
g I 9
g0 (4 TUA 2 4 TUA 2
" 9 FPC f 9 FPC 5
3 OLH o 3 OLH 9
PRUE @ & Grh 6 (1) 3 @ 5
(3) B .;:t @ 9e, L\ b (@) 8 (4) ©
NTSE(Level-1) Exam. Nov, — 2018 P. T. O.

(27 )

Choose  the pair that best
represents a gimilar relationship
to the expressed in the original
pair or words -

MONK : DEVOTION

(1) Maniac : Pacifism

{2) Explorer : Contentment
(8) Visionary . Complacency
(4) Rover : Wanderlast

In a family of cight people, lawyer

g & o7 Ew e A -

w (i) < el

c

57, @8 w2 & sien fFEd oaw A2 oW

58, TF UEN F e wed 7 9 T




60. If 'nso ptr kb chn' stands for

sharma_got marriage gift( piy
lom wop chm' stands for ‘wife
gives marriage gift'y T wop xﬁ?
stands for ‘he E‘E’ﬂﬂ nothing' what

would means 'gives' ?
{1) c¢hn
{2) nhi

(3) ptr

fm‘ﬁ:p

61.

A dice with six faces is marked with
six numbers 1, 2 3, 4 5 and 6
respectively. This dice is  rolled
three times and three positions are
shown as -

e

1 the number opposite to 1 -

NTSE({Leve: B

(28)

60. TR ‘nso ptr kli che' & Trgd ‘o

Gl.

A B awr o B, pie tnm
wop chm' § a7d w=ll d FEm @
IEE BEr, 't wop nhi' @ Gy
T ogm Al BEr @, A R
aregy gar & 7

(1) chn

{2) nhi

() ptr

(4) wop

TF A % 6 weE 0r wen 1.2 4,
4,596 et B R 55 @ B dw
g B T q AN aEmAm 2

yHT B -

1% Fagfte $-d de=m @ 7
(1 2

) 6

(3) 5

(4 4



{29) C

62. TamifEd wye 3 < a1 il i

62. In the guestion below 15 given two

or more statementa followed by
two conclusions numbered 1 and
II. You have to take the given
statements to be true even if they
geem to he at wvariance [rom
commonly known facts. Read all
the econclugion and then deeide
which of the given conclusions
logically follows from the given
gtatements disregarding cnmmn

known facts -
Statemenls : O
No giraffe is a leopard.

All leopards are ]ﬁmgamsﬁ/‘)
All kanparoos are wolfs,
Conclusions :

(I All kangarocs can never be
guralies, S

(IT) All  giraffes are definitely
wolfs,

(xive Answer

(1) If only c_unﬂiusinn I follows.

{2} If only conclusion I1 follows,

(3) If either conclugion T or

conclusion [T follows.

f both conclusion [ and I
follows,

NTSE(Level-1) Exam. Nov. - 2018

3 gy < Pt 13 11 Fm o 8
el ol e s R CEE T
m d g 9 e miE
eyt 0 e &

T
w1 o R dgen 8 &)
At dae, @nE B

g @, AiE E |
fss

mﬂ‘ﬁfﬁﬂﬁfﬂi‘iﬂ‘ﬂmﬂﬁ"f

-

Hﬂﬂl
ﬂﬂﬂ‘ﬂﬁmﬁﬁfﬁﬁﬁq%ﬁﬁl{?i
ge &y
(1) @ P daw 1A
(2) af Fremd Faw 11 8

(m ofs Frepd 1 wag 11 ¥ SR w
il

(4) 9% Fred 18 1A

P.T. Q.




63. BDirection : Study the following
information and answer the
question given bolow it,

There iz a group of five persens

K, G, H, Rand.J.

()] K,Gand H are untelligent.

(i) K, Rand J are hard-working.

flii].l'L_H-Hn_d_J are honeat.

(iv) K. G and J are smbitious,
e B el 2

Which of the following person is

neilher hard-working nor
|1mh:'tinus~'?
(1) K &) G

H (4) R

Direction : (. No. 64 & 65)

Chovse the correct alternative that will
continue the same pattern and replsce
the question mark in the piven series -

64. 0,230,810, 15, 17,24, 26, 7

(1) 28 /rﬁ'i".'au

(4) 32 (4) 35

B5. 2 25 13 98,7

(1) 48 ,&(:.:1

(3} 51 {4y 52
NTSE(Level-1) Exam, Nov. - 2018

(30)

63. e ;. Rl @ 02w g
e g e d

o EfREl K, G, H, R a0 J W
wE ¥

() K. G @9 H ghage ¥

() K, R mn o ofted ¥

(i) R, H 741 J #qrem 3

(iv) K, G 7 J veamsE ¥

Frr & & 1 aflr 1 o) ofted)
ﬁﬂi_ﬂlérnsﬁ'raﬁiﬁﬁ?

(1) K (2 G
(3 H (1) R

7@ (9o Ho 64 17 65)
o T’ e A gvwEEw Fee 4 owme oo

e B T T T

w7

64. 0,2 3,5 8 10, 15 17 24 26 7
(1) 28 (2} a0
(3 a2 (1) 35

66. 2.2, 5 13,28 1
(1) 49 {4) 50

{3) &1 {4) 52




i,

Find out from amongst the four

alternatives as to how the pattorn

would appear whon the

transparent sheet is folded at the
dotted line.

67. If the position of the first and the
gixth letters  of the word
TNIFORMITY are interl.:hangl‘:';'l.
similarly the pesition of 2nd with
7th letter 3rd with Sth letter, 4t
with 9th and Sth with 10th lotter
arve interchanged. Which letter
will be 4th from the right end after

arrangement ?

{1} 1

NTSE(Level-1) Exam. Nov, - 2018

(3)

c

66, 4% TR IR (x) @ R v
qr A aw d R o feed # 8
e fame & aran e

g7. g il g UNIFORMITY' F
TR 4d H ome ol §, o W
B s ¥ gat gwr gE @
aid ot @, det aot @ oamed A3 |
A W o dred g @ A A
oo At § wwe B wmr B Al 2W
TR o o EERdT 9= 4 4R ain

# ey =9 =0 #m 7
(1) 1 (@ 1
@ M (4) N

P.T. O




C

Direction : (G} No 68 & 69)

In the following quostions which numhber

will veplaces question mark ?

3. 6 |72
o 5{ 12J4 5 18 |28 9 }2
i S— | L —1
2
(1) 15 M
3 17 {4) 16
68 6 18 15
3 @ f
4 i 7
8 &7 9 =
e
(1) 2 3) 1l
(3 3 4) 6
70. A word given in capital letiers is
followed hy four answer words,
Cut of these only cme cannot be
formed by using the given words,
Find out this word ?
HEC_E;::S_&RY
,nﬁnm‘. ¢\, (2 EssAY
{3} EASY

(4) RACE
-

NTSE{Level-1) Exam. Nov, - 2018

1—________'

(32)

Fider ¢ (9o do 6817 69)

e gl & wgrEeE Rag o O
FiA-H deEr ) 7

= 3 I B 2
GE. 5L13 J45 18 ‘2 5’ ? |z
- 3 o
(1) 15 {2} 18
{3y 17 (4) 16
9. 6 18 15
5 2 &
4 3 7
a 9% 9
(1) 2 (2 11
(H 3 (4) 6
0. A imE a2 gl § o g

a2 a0 W am o= B T
Pigm e & R vk oo B i E A
Fe o= & ool § 9l o 2 9m
9T &) B |

NECESSARY
(1) NICE (Z) ESSAY
(3) EASY (4) RACE




Tll

In an examination, # student
scores 4 marks for every correct
answer and loses 1 mark for every
wrong answer. [f he attempts all
126

marks, the number of gquestion he

76 gquestion and secures

attempted correctly, 15 -

{1) 35

ﬂfﬂ{

72.

(3) 42

(4) 46

ldentify the figure that completes
the pattern (x) -

7 )
NN
M @ W

NTSE(Level-1) Exam, Nov. — 2018

d~

(33)

71.

72,

C

oF T { oF e § ondw w@el
e @ 4 o fER § a9 oo e
AT & U 4iF e B oar & R
3HY ¥t 76 §e e B Bl e 125
i e B @, 9 9 B neE
wal B

(13 35
(2) 40
(3) 42

(4) 46

T AR BN W BE o e (k)
H T w5 -

JANIIAN

(x)

N\
AVA BV

(1) 2y (D (4)

| Pt o A




73. The frst umit contgins two figures

T4,

and the second unit containg one
figure and a question mark. Find
outl which one of the answer hpure

should be  placed af  gquestion

mark

FProblem Figures :
QO|[D] 7]

QG
it

(2. (3)

Lr

“

First bunch of bananas has (1/4)

again as many bananas as second

bunch. If the second bunch hag
three bananas less than the first
the

bananas in the first bunch are -

bunch, then nomber of

(1) 9
‘fﬁﬁ
(@) 12

{4) 13

NTSE{Level-1) Exam. Nov, — 2018

T4.

78, et $HE A &1 onglen & o4 g
S 7 uF amfr qw 9w faea 3

I amgiedl § q wA-A v g
FEd & w90 B anfen ?

s

BTl

I S
|
QD
(1) (2) () (4)

w & 0% T A gt 0 3 A @
wh Al e afis BoaR et 8
gt R A, ww e A § ¥ o
o, 1 ued 7R F F6 A v b -

e
(2) 10
{3} 12

(4) 15




75,

76.

Look al this series : 664, 332, 340,

170, 7, 89..... What number

ghould be placad at (7} -

(1) Hi

A2eT

() 1089

(4) 178

In the gmiven table numbers are
written according to some pattern
and one number 15 missing. Find

the missing number that replaces
the question mark.

12 | 47 | 21
10|52 | 4
G + 24

(1) 16

2D

(3 62

(4) 83

NTSE(Level-1) Exam. Nov. — 2018

(35)

C

75, -4 T S A g BT S owm

gy -4l weEr e 7

664, 332, 340, 170, 7, 89, weinuee.
(1) 85

(2) 97

{93 100

(4y 178

76. & m wiel & Hend R P §

st Wy et W § @ 8 aw den
qe #1 §d e w| oad A U

B & 99 9 Iy 8

12 | 47 | 21
10 | 62 4
64 | 7 | 24

(1} 16

(2) 4D

(3) 62

(4) 83

P.T. 0.




77.

78,

L 2

In the following series of numbers,
find out how many times 1, 3 and
7 have appeared together, 7, being
in the middle and 1 and 3 on
either side EF 7. “ff:'-':]
2073173771331 73857%]
377173906

-
{2} 4
(3) 5
(4) More than &
In the following figure triangle
FEpresens Rectangle

‘players’ and cirele 'eoach’. Which
part of the diagram represenis the

'girls’,

girls who are player but not coach *

(rirla—; u Coach
P la b T

o

Players
(h P

M a

(3 R
(4) 5

NTSE{Level-1) Exam. Nov, - 2018

(36}

77. B wEn e q R a1, 89
T wmmEr e Tdm g @
A 19 3,7 & & o Bh

28 T31737713317384671
3TT173906

(1) @
(2} 4
{3) b

(4) 5 Wi

78, e R 8 Frge ereidl @, o
Famieal a9 59 F B EhEE
w & fE @ EW-E W W

wefr # wefile won B oW R
feaendt ¥ gy F ¥ 7

msl — /_uj—a%%
B
g \m,_.-f__w
(1) P
() Q
(3) R
(4) 5




79.

The fOgure (x) 15 folded to form &
hox. Choose from the alternative
(i), (i), (i) and (iv) the boxes that
is similar to the box formed -

sl Jmcim

{i} (i1 (1) (iv)

(1) (i) and [ii1) only

, (11} and (iv) enly

e G only

(4) (i) and (iv) only

B80. Find the odd one out -

331, 482, 551, 263, 383, 362, 2584
(1) 263

383
{3) 331

{4} 551

NTSE({Level-1) Exam. Nowv. - 2018

{a7)

Cc

79. T e A gifeq N A E gk
(x) @ Hdrga T W feE e
A -

()

f[_jﬁ L‘jﬂI:l

(i) (ii) (iv)
(1) Fae (i) ;T (i)
(2) T4 (i), (i) A (iv)

{111)

(3) AT (i1) T (iv)
(4) FAT (1) T (iv)

80. T T F WU S oo deme @
fo= & -
331, 482, 551, 263, 183, 362, 284
(1) 263
(2) 383
(3) 331

{4) 551

P, T. O.




E1.

a2,

/m{f Nurth - West \ef "f \“ %
D

The words in the bottom row are
relatod m the same way ag the
worcds in the top row. For each
iem, find the word that completes
the bottom row of words -
ant fly bee
hamstor | aquirrel ?

(1) Spader
(2) Mouse

!AR}fRnﬂHnl.
{4) Cat
If South-East becomes Norih, and

North-East becomes Wast, then

Wiest hecomes °

(1) North - East 1\1}@

{2) South - Kast

(4) South - West 2

NTSE(Level-1) Exam. Nov. - 2018

(38)

-

8z,

bl e A A A L e
T oah gy & odw B osr & O
q Ru w9l &) dE e g i
Ry < &7 iRt 9o7 81 @ -

Eic Al | A
B Fwre ?
(1) 8!
(2) ==

(3) B (FA A ofte)
(4) Fermit

off V-9, SAC %9 oMY, e
-, 9EE & AE, 3 ofiem
ST |

(1) FR-gd
AR R
(3) Fe-afiey

(4) aiv-gig=y




#3. In the question below an eguation
hecomes  incorrect due Lo Ehe
interchange of two signs. One of
the four alternatives under it
ppecifies the interchange of signs
in the equation, which when made
will make the equation correct,

Find the correct alternative :
5+6+3-12x2=17
=and x ¢
nx3-12+2=1"
-31-...5, =17
£xy lp =12 ="

3 “3—”?-*1

B4, In a c¢ertain mﬂ.e BDKER i%
written ag AQWGEQ. Hl:mr \iLIElT 18
writlen in thal code ?

i{:ﬂ} + and x
(3} + and +

g, (4) +and %

E i)W el .
(1) UKRKU gH of 895
MI{RKS QA0
(4) WKRKUwt '-aﬂ ‘1.
(4) WKRES

5. How many days are thero in x
weeks and x daye”?
(1) x* @ 9
-:ﬂff-l:}-x {h » 3 i
() 14x
(4) 7

NTSE(Level-1) Exam. Nov. - 2018

S ‘r'&ﬁ.ﬁ
3}6

(38)

c

83, Bu o ww # @ ainiE e @
Ry 9EEE B WH & H
e A I ) A oG T
7 8 o ey 1 wiey Beg By
el w uwEE OElT S W
TR W 8
TEl e s Fim

b+6+3=-12x2=17

(1) - T %
(@) + T
(3) +79 -
(4) +T91 -

B4, U BEl gigfs 9w § BOXER
AQWGQ Frgr S 8L & S W
# VISIT %% fown smam ?

(1) UKRKU
(2) UKRES
(3) WKRKU
(4) WERES

85. % WwE 7 x WA 0 e R RE
E?

{1y 7x*
(2) Bx
(3) 1ldx
(&) 7

P.T.O.

e




B6.

8.

88.

4

If diamond is called gold, gald 18
called silver, silver is called ruby
and ruby 18 called emerald, which
is the cheapest jewel ?

(1) Diamond (2) Silver
(3) Gold 47 Ruby
In a certain code, RIPPLE 1s

written as 613382 and LIFE is
written as B192. How 1s PILLER

written in that code ? g 816
A‘Iﬁlﬁﬂﬁﬁ (2) 318286
(3) 618826 (4) 338818

Choose the set of figures which
follows the given rule.

Rule ' Any Apure can be traced hy
a single unbroken line without

Al
A\
S a
/5

retracting.

|7
)53

—

(1)

L)

(4)

ME

NTSE(Level-1) Exam. Nov. - 2018

(40 )

36.

B7.

838,

e A e e O B R
(0| e i 5 VR e e o B O
T EFA-HT TR = g B

(2) =&
(4) TS

(1) B
(3) @

Fll wafs 9 § RIPPLE &
613382 T LIFE =t s19¢ Rm
W B, a9 wiem W o
PILLER % &5 wwt frar sy ?

(1) B1H826 (2) 318280

(3) G1RR2G (4) 338816

Ol arpRet § W e e
TR W H®OUE A A R
(5 VO T T 0
wrg Pl Y, e s e i A
qENT AT w

EI]V_T-lﬁ
[E QLA
w1 S
) /3




#0. In the

NTSE(Level-1) Exam. Nov. - 2018

(41}

following prohlem of
substraction find out the number
which does not stand for CARE —

CAR 2L
= ﬂhﬂa E"é !
b
/m};ﬁqua@ (420 .
S
7541 97539 1
& @, &S

80, Today 15 Monday. After 61 davs it

will he -
(1) Tuesday (21 Monday
(3) Sunday Saturday

91, If AEB means A is the father of B:

ANB means A is the sister of B;
A*B means A is the daughter of B
dnd AAB means A is the brother of
B. Which of the following indicates
that M is wife of @ 7

o (1) QSRATEM ?% o
A2 QsRaTun RS T BA

3 QsRrTeM M &
M7 aseaT™ A bk T A%
&

d

&
R~ HT{T

E9.

21.

C@%@

c

FelEg Te & 9§ Fie-
HdE CARE & W @ 7878 1

CAR
- ARE

222
(1) 8640 (2) 6420
(3) 7631 (4) 97563

af2 s gwEr. B A 61 BA 2 am
HiF-|1 AT 8 7
(1) WTET
(3) TEE

(%) #HwEr
(4) i

g ASB =1 o, AB ® Rmm B
ANB W &1, AB #1 78 &) A*B
# oW, AB 1 G ¥ @ AGB @
ad, AB W WE 2|

A1 faefefes & & 9.9 gy @
med M.Q # e R 7

{1} QSR#TaM
{2} QERETHM
(3) QSR*T¥M
(4) QSRET*M

B.T. O,




c

Direction : (Q. No. 92 to 94)

In the following figure small square
represents the persong who know
English, triangle to those who Marathi,
big square o those who know Telugu
and arcle to those who know Hindi. In
the different regions of the figures from
21to 12 are given.

12 F=&Knglish
Mlavathi
p E
L]
| 7 5
8 %‘indi
10
-3 Trlugu
92. How many persons can apeak

English and Hindi both languages

anly 7
/ﬁ/a @) 8
@ 7 {(4) 18

93. How many persons ean speak

English, Hindi and Telugu ¥

{1 8 o e

(3 7 (4) 10

NTSE(Level-1) Exam. Nov, - 2018

(42 )

fAde ¢ (do Ho 92 @ 94 oF)

G R E e i
AT F, By A aed e sl
al, o gt A AW AW =g &) g
g0 Bl TR T =R § wmiEE
PR S R R A W 2 @ 12 e
FHT T 2

82, BFH SRR da9 o 7 B AN
TN G qE 7

(1) & {2) 8
3y 7 (4} 18
93, Rt = o, et @ A dr
5 ¥ 7
(1) 8 2) 2
@) 7 () 10



(43}

894, How many persons can speak all
the languages 7

m 1
(2) 8
(3) 2

Mnm

In this question there 13 a set of
three figures X, Y and Z showing a
sequence of folding of a piece of
paper. Figure (Z) shows the
manner in which the folded paper
has been cut. These three figures
are followed by four answer
figures from which vou have to
choose a figure which would moat
cloaely reeemble the unfolded form

of Fig. (£}

_________ (1 < :

X i z

95.

reg
L]

a

h

S
©

o

{2)

{3}

{4

; e
NTSE{Level-1) Exam. Nov, - 2018

o4, T SRR A9 T e e B 7

(1
(2) 8
(3) 2
(4) ®E 8

95, BT T A% ¥ §9 wgf X Y3 2
F OF R o ) S o®
wa‘ugﬂmﬁmﬁm

(2

(3)

(4}




c (44 )

a6, If A+0=31 96, IE:  53+9=31
16+27=05 15+27=05
lEIrF-f-J;EE 154+8=30
then, 12+27=7 A, 12+27="
(1) 94 (1) 94
--..__.-"'---'
97714 (2 14
(3] 49 () 448
(4) 53 (4) 53
Direetion : (Q. No. 97 o 99) Fsyr : (Fo Ho 97 ¥ 99)
Seven villages A, B, C, I, E, F and (G arve gd g A, B, C. D, E, F @ G 3T T
atituated as follows : T ® T
Eiz 2 km to the west of B. F 15 2 km to BB & qfiag § 2 fEll m PIF A& 3
the north of A D is 2 km to the south of e wR D G& a2 iR
G. Cis 1 kni to the wast of A G 1 2 km BloAz a1 Biimitig CE
to the east of C. D is exactly .in the o F 2 A s D, B E & JE Em
middle of B and E, TR
NTSE(Level-1) Exam., Nov. - 2018 b




a7,

895,

99,

How far is E from F (in km) ¥
|
(1) 5km ™
\
;f.#'ﬂ lem —
_ il
r 4
(1 4km ‘-"J
(4) 45km 5
Which two village are the farthest
from one another ?
(1} DandC
e
(3 Fand E
(3) Fand B
(4) Gand F
A s in the middle of two villages

(1) Cand F
/425-

(1) Cand G

(4} Cand B

NTSE(Level-1) Exam. Nov. — 2018

(48)

917.

98,

EFfafiighod?
(1) 5 Rl
(2) 6 B
(3) 4 W

(4) 4.6 f&r

Fad 7 A9 & dw A g wed

it & ¢

(1) Dagr
2 Faari
(3) Faar B

(1) G E

P A At & e # A g Rem ¥ 7

(1) CaIF
@ B D
(2) CTHTG
(4) CTIR

P.T. O

-




c (46}

100. How many triangles are there in 100. @ @ Hrple | B{ﬂﬁﬁ #t dem B
the following figure 7 BT

(1) 10 (1) 10
(2) @ (2) 6
,_aﬁ’/ﬁ (3 8

{4) & {4} 5

NTSE(Level-1) Exam. Nov. - 2018



S

-

10.

1.

12,

13,

14,

15,
18,

7.

18

st it e
g wrge f @ e aen wen E o der e A
Femm o

® e 6 @

mﬁﬂhﬂmummmmw,aﬁmma
vty Wt o e 9 owa

@ ® © @ :
uﬂ'wﬂwmﬂvﬁﬂmﬂlimawmlmuw
i e

gt & @ne. TN WA % Pyrffin

.erﬂnﬂmgﬁnmﬁﬁnﬂh?ﬂﬁwﬁﬂmﬁ]

oy uE @ ol |

gl m I OMR wTE oW 9 @ TR W | A

av CITE  afEw i aE Aol B T A
(e, wesgE) v A fftg )

et e @ fog Ry oo ouR Rt A @ arm

ey @ far OMR @ Wi W HE TR
ﬂﬁwmﬁﬂ;mﬂﬁﬂmﬂ?thﬂ |
Wﬁmaﬁnmfﬂﬁﬂﬁﬂﬂﬂ-ﬂm
wan &

mmﬂﬂﬁﬂwﬁﬁﬂamm-ﬂmwﬁm
qquwﬂimﬁmwmm apneit s
argzmﬂﬁmwﬁﬁhuﬁrrw#aﬂhﬂmabqaq
o |

qhﬂgﬁmﬂqdﬁﬂ{trﬂwaﬂ'mmﬁm|wlmﬁﬁ
Fay & oAy & (e o g g e w9
i A Pt ) e el wfler gt
vt wwwar TE SvEE

wliery st e, w4 f o s W anadl
edieh Tt et w ® FRd

sl @ e @fwsma i wde o @ Ree R
e 7 e, e Ty weefeten a9 afE,
o, FETEA B, eI we ol famlt ara R
ot T W A e A ey ot e ol &)

dﬂmmTqﬂmﬁmmﬁmﬂtﬁmﬂlmm
e wo) fomnd |

e anfin o wien @ R e @ B
apapd] o TETT M DI

yAathr  mecvnfom a9 ST aftim #1

il e & ol oitw s TeR T W @ A
HarT A |

e T B T, sl we /R B @ gl S
S— TR R LR LR L
iy qitem w @ o e E

ﬁwmw##ﬂwﬁﬂmwﬁmmﬁhﬁ
t.mmm-mmmmmmm
g% a4 T A A |

2.

10

1.

12.

13.

14,

18.
16,

17.

18.

AARWEDE K fquiRtions In arewer dlwoct are b0 be given
by darkening complete clrcle using Black fBAlue ball point
pen s shown below

o e O &
Thewwerwiﬂ.bemheﬂwml{!,!fﬂﬂlmrhui,ﬁ
iven below' |

@ @ © 8

If you fill more than ane cireleit will be breabed as @
WrOHg, ATISWeT.

Roujgh work should be done anly in the space providad
in the Test Hooklot for the same.

. The arswess ane & be recarded on the OME Answar

Shiel e iy, Mark your responses canefully, Ne whilerer
{white fluid) s allowed for changing answers.

Out of the feur altematives for each ¢queation, anly one
drel far the most apprapriale avewer s (o be darkened
comrpletely with Blue/Tlack Ball Paint Pen on thi OMI
Answer Shoet. The anaweer prew marked is not allowerd b

be changed:

_ The candidates should ensure thal the Answer Shiget |s

not folded. Th not make any siray marks on the Answer
Sheet Do nat write your Roll No. amywhers el exiep
i1y the specifued space in the Anawar Sheel.

Tinndle the Test Bookle and Amswer Gheat willy care, a8
under no circumstinces fexcept for discrepancy in Tost
Booklol and Answer Sheet Serial Mol arotler set of Test
Beoklet will nat b provided,

The cardidates will wrile e roTnect Mumber &s given in
the Test Booklet/ Answer Shoel in the Allendance Shusel |

Chndidates are not allowed to carry any textual maturi,
printed or written, bils of papers, pager, miohile phone,
clockronle deviee or any-dlhet material except the Admit
Card inside the examitation hallfroom.

Gach candidate mamsl-slhow e demand Wis /e Adwmil
Cand (RolI o) o the vwigilabor.

Mo candidate, withoul special  penmision al  The
Gupsarinkendent or Irvigilatos, shoald ey his/her geal,

Usiz of Electrurmicy Maniial Calrulaior s prohiliited,

No part of the Test Bocklet and Answer Sheet shall be
detached under a0y gircumsances.

O comirletion of the test, e carelidate muss hand over
thg Answer Sheet i the Invigilstor in e Hoom MHall.
The candidates are allowed to lake awey . this “Test
Boaiclet with them,

Simet the time allosied to the thrae parts ol s question
paper ks very limited, you abvonald maki the besy uae of
by ot spending tan much time on dny iusestinm.
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SET: A '

b Gl o DER
bR T T !
Rokler Serial Mo, &

74381

Hepgarn (et W)
Rl Niw (In Figures)
st (vt H)
Rl M. (In W ords)
qAET Few T A

T

O3 M. R Serial W,

Name of Examination Cenine

apequl w7 =

apareff & BRI

e of Candidate

angsll w10 Fe an wey oEgitoer

B gy e @ gl @i e
| No. of Pages i this Qruestion Booklet

Signature of the Candidale
e
a8 gl il ﬁﬂ'_d'r'l 100 f'lmr 2 haurm
M. f Qﬁq_hm? e

friigre & e/ Signature of the Invigilatos :

o ot Bt of vad oo gt ¢ By wr mrel @ T e i e oy At el @ ey

TR A T O g o e o s wa awn B0 ET ot e s i o Fde e ge o gede aoe o) uder aww sl o
owwy A o ity S v amar e r 00 MEr A wel o ae de o afr weed of oy of 2 o e e S vy

spafifat ot Sy e

L ATTEAT. S UEE g udel qREET & A o

&) e aTe e qffeE EES W T
i g wew Fome e s 9 dEd T o S
e e T\ A REE

.o of amB 2 w2 & wd uden gffaw 4§ 100 e

¥y urltos ge v s ) B il Sooweves s
st 81

L - e R L

Fras @ & Toe dde Bid s md dle wige B4
Wi e apad] w0 awEly s g
W gRE e el Gl gee orRgitaeT
v warr T @ el

. WE W e ww & R owien R e alte

W UEE el TE @ 5 | are ge e wt T anage]
T TEREET i aEw e e b [y uddesd
1 G AT B |

INSTRUCTIONS FOR THE CANDIDATES :

1. The OME Answer Shoet is inside this Test Booklet,

When you are directed 1o open the Tost Booklet,
take aut the Arswer Sheet and fill in the parliculars
carefully with biue /black ball point pen only.

2. The lest is of froe howers dorabion and corsists of

T uesations, Each question carrics ooe marke There is
pee pregbioe arking.

» Use Blue/Black Ball Pomt Pen ooly for wriling

particalars an this page Amarking responses in the
Anmwer Sheet. The candidale showld semain careful
in handling the question paper and in marking the
answers on the answer shioet, Another bookiet eet
el I sl b grieeen.

. Also ensure thal your Tesl Booklel Serial No, and

Answer Sheet Serinl Moo are the some. T cotie of
dscrepancy, the candidale shoold imenediately
veport the mather to the Tnvigilator lor replacement
ol both the Test Booklel and the Answer Sheot.

e go qhowr @ ara A fiv o odw fewt @t

g |

Note: Read other remaining insteictions given ox the

last page of this Faokict.




PART - II (9T - 1)

SCHOLASTIC APTITUDE TEST,S '
sttty epen afterer o ©

11 to 100

1. 25 g of water contain -

(1) 12 = 10** atom of Hydrogen
and 6 x 10% atom of oxvgen

25 25 . L'EJ 5 x 10* atoms of Hydrogen
B
I"'T"'-. and 2.5 = 10" atoms of oxyeon

(3 2.72 = 10" atwm of Hydrogen
and 8372 x 10%¥ atoma of

E7
’\‘jlﬁ" 2 OXYEEn
..:”;, AEE « 10" aloms  of
b3 Hydrogen and 8362 = 10%
i~ T atoms of oxvgen

2. Which of the following contain five
molecule of water of erystallization ?

T Blue Vitriol
(2) White Vitriol
(3] Epsom Sall
(4) Green Viinol

NTSE(Level-1){(P-II)Exam. Nov, - 2018

— ey ————m e =w

Time : 2 Hours 4

L 2@ F 89 & -

(1) 12 x 10" {59 eigglfd & 9
6« 10 TR T 3

@ 2.72 » 10% qE] EEgeE & 4
8.372 » 10™ T AT &

(4) 16.722 x 10 90" BREEA &
T 8362 x 10" TN AR
%

. = A e edaer odw & dis

o B 7

(1) e Fftem
(2) g fadtamm
(3) T T
(4) w0 fafilam

P, T. O.




6. Which of the

hgestive [luids in stomach has
approximate pH of -

(0 2%

(3 4 {4) &

Whon water gas mixed wilth half
itz volume of hydrogen and the
mixture 18 compressed to 300 atm,
pressure and possed over ZnO-
Cry0y eatalyst a colourless liguid
is obtained which is used as
solvent for paints & Varnishes,
The liguid will be -

{1} Methanol
2} Ethanal
(3) Ether

| Ndheetone

following
arrangement represenl increasing
oxidation number of contral atom
(Mn,Cr,CI) 7

(1} jﬂj’uﬂ; O IO, Cre);

(2) E*m,, 5rmj Mnl), Crt);

AT CrO; O OROE MR,

() Crly  MaQ, Cr0); ClO;

NTSE{Level-1)(P-1I)Exam. Nov. - 2018

3.

4.

W UEE T pH e
2 B -

(1) 0 (2) 2

(3) 4 (4) 6

w9 AT TR WS @l g 3
AW EEEEH & A Beer feg 8

300 FETEEE TE W Zn0-Cr,0,
T F B g A TN oo

il T o B 2 S i oade
iy & Fe Bems & s § g
el B, 98 o o

(1) Hdeie
(2) 3o
(3 de

(4) THIEM

Pt & @ dla-61 an m o
(Mn,Cr,Cl) % &iiiwm g6
e ggd H9 ) wEiE & b7

(1) MO CrO) CIO, Criy,
(2} CIOy,CrO MO, Cro
{3} OOy, CLO; CrOF  Mr();
() CAd M) CrO); CIC);




(&) A

6, Which of the fullowing is un oxide 6. M= ¥ & g7 03 fEoms o

ore ? 3

(1) Caleite | (1) Swrge

(2) Zincite (2) Fame

(3) Magnesite (3) TR

(4)-Calamine . (4) FAMEA

7. Which of the following statements 7. Hegelly & anad W & ded @ A3

are incorrect regarding BT o owEEr o RN w8 o

Mandlesv's periodic table ¥ j &)

(a) Mandleev  considered (a) F=wild A d@l @ sEEeE A
compounds formed by elament affllas & =5 oFm 9 aE
with oxvgen and hydrogen. iz R

(b) Tn the table Ni is placed before (b) |\l ® Ni @ Co @ 9E T
Co. T

{t) Eka-silicon in Mandleev's (o) W @t F femm @
periodic table is gallium., - TR R o

{d} The properties of elemenis are ) 7l & ] e ad AV W1 &
the periodic function of their AT T B B
ATOMLE M ASSEE,

(1) Only (b) (1) 49 (h)

(2) Only {c) (2) FA ()

A7 Both ) & (0 @) () T (e W
(4) Both (a) & (d) (4) (a) ST (d) 7

NTSE({Level-1)(P-II}Exam. Nov. — 2018 P.T O



8. Consider the t(wo

statements
below one labelled ag Assertion (A)
and other as Reason (L), Examine
Lhese two statements cavefully and
decide if Assertion (A) and Reason
(R) individually true and if so (B)
15 a corroct explanation of (A)
salact your answer using the onde

below :

Assertion (A) Mugnesinm

imparts charactenstic colour to
the flame.

Reason (R) : Due to small size
and high effective nuclear charge
ionization enthalpy of magnesium

is high,

t‘_",;;.l-:r"ﬂl:n:h A d R are true and Ris a

correct explanation of Al

(2} Both A & R are true but R is

not correct explanation of A.
(3) Aistrue R is fulse.

(4) A= false R 1s true.

NTSE(Level-1)(P-I)Exam. Nov. - 2018

(6)

B 4y H A o Bw @ B e A O

e (A) ® o gE R (R)
B FeRT B owgEdE ve & A ¥
g &t [ F AEg (A @0
PRt (R o SR @9 § ol
Frepd aifepas 3 TR A ¥y AN
B @ Hiz & oER W AT G

i

afEgs (A)  : Isiifiee S
g WS O W5 S R

Fressl (R) @ @9+ i siERT g 3=
afEfE e & & Aefifgy &
AT S T A R

(1) A it R & gy B g B, A
& HEl e g

AR TR R A
S

(3) A9 B B R 9ET

(4) Aare & BFg R W @)




10.

Incorrecl statement in regard to

halogens is —
HI > HBr > HCI > HF

Chlorine the hipheat
alectron affinity in the group,

has

{2) lomization cnevgies of halogon

are very low.

{3} Except fluorine they show an
oadation sate of -1 or +1.

[4) Acidic strength of hydrogen
halides decrease m the order.

Reaction with sodium hydrogen

{7

parbonate  ecan be  used to
distinguish betwnm;_ -ﬂ coon MaRgo
i

(1) Ethanoic acid & Methanoic
acid

{2) Ethanol and Methanol

ﬁﬁ!}fEfﬁfnnn] and Ethanoic acid

{4) Ethylacetate and Ethanol

NTSE(Level-1)(P-II)Exam. Nov. - 2018

10. dAffEay el HEEE

g

9, Beltad & daw § fEd FOE B -

HI > HBr > HCl = HF

(1) T S T A T A
gy i @ R

(2) B W AR S T
Bl |

(3 TedE & afEfEs o 1 @
+1 st g el &w
4

(4) EREEF ZwrEd ¥ anslg o
I HE A B

C i
sftfer Fed ol W & & o
g 4 A ghdl B 7

(1) suFEE o o digEeE O

(%) FaFE ST HaEm
(3) TUFE ST SUTHEE AT
(4) FUER ST AT FEE

P. T.O.




11

12,

L

Relkha dropped & metal pieee A in
the anlution of another metal B

Aflter some Lime a new colourless

eompound C iz formed ARBC

respectively can be -
(1) Cu, ZnS04, CuS04
(2) Mg, NaCl, MgCls
(3 Mg, CuSOy, MgS0,

(41 Fe, ZnB0,, Fel0y

[TIPAC

compound will be:

N
|

CH;~CH;—C—CH~CHCH,

Name of [ollowing

(1} d-Methylene hexane

(2) 2-Propyle-1-butene

(3) 4-Ethyl-4-pentene

2:-Ethyl- 1-pentene

NTSE(Level-1{P-1I}Exam, Nov. — 2018

(8}

11.

12,

tE o wE g A F THEE W U
gHll g & [@E B W s @B
Y gE O T A ¢ F R
gl &1 AR,C wHer: B -

(1) Cu, ZnS04,CuS0Oy
(2) Mg, NaCl, MaCls

(3) Mg, CuS0y, MgS0,

(4) Fe, Zn50y, FeS0:

F i &1 TUPAC -9 BT -

H H
No”

(1) a-femEee dE

(%) 2-AgH- 1~
(2) 4-TEa-4-U=N

(4) 2.37Ew-1-UCH




(9)

13. In hm]nnt w&&n mical equation
El Cu+b H.Hﬂd ll,'d.tl}
-1
Pe Cu (N + dHaﬂ e NO

Which of the following alternative
are ¢orrect ?

(1) a=1 b=4 c=1 d=2 p=2
(2] a=3 b=4 =3 d=1 e=1
(A a=1 b=4 ¢=1 d=4 o=2

Jg,y’aza b=B =8 d=4 p=2

14. Whieh of the follewing does not

relate to the Non Cooperation
Movement {1919) in India ¥

(1) Renouncemont of titles,

(2] To quit gowt. sachools and
collepes by the students.

{3} Discheving govt. laws,
d{-ﬂx Boveott of judicial courts by

advacalos.

15. What does the novel ‘Sevasadan'
by Munshi Premchand mainly
relate to ¥

(1) Attrocities under colonial rule.

(2 Bocvial problems like child

]]:I.I].['I'iﬂgﬂ L].I'ICI. EIHWI'}".
(3) Life of an crphan.

{4} Misries of a poor peasant.

NTSE(Level-1{P-II)Exam, Nov, - 2018

13.

14,

l‘ﬁi

A i il 7

a Cu+ b HNGy (dil) —

¢ Cu (NOsje+ d HeO + ¢ NO
Pt 8 & av-mn s el 7

(1) &=1 b=4 e=1 d=2 s=2
(2) &=3 b=4d =3 d=1 =1
() a=1 b=4 =1 d=4 =2
(4) a=3 b=8 =3 d=4 =2

Frefefean o & Femm o9
1919 % e e o

iia

(1) il = 9fem

(2 R B ol wE 4
et & ufter )

(3 HTRA Fgal w1 S
(4) T BT SWEEE H AR |

gt HuEs oW ITE HEERE

e @ e A § 7

(1) simfeias s 3 g e

() aw-fEe od da A e
H |

(3) U ST AT S |

(4) T TE B S g

-PI- T+ Dl‘




16. Which the f[ollowing statoments
are  correct regarding  Taberal
Nationalism ‘in  19th cenlury

Europe ?

() Right of Liberty and Equality .

(I} Formation of people's govt.

([IMOwnership of private property,

(IViComplete Control of govt, on
all
properiy.

(1) I, 1, 11 {2y IV, I, I

@y 11, IV, I ‘ﬁﬁ I, IV

Which of the following statements

public  and  private

17.
are correct on Gandhigi's hreaking
the law

Digohedwenee Movements 7

galt i start Civil

{1y Salt was the necd of rich and

poor all.
Writinh {tovt, levied tax on the

galt.

'_,QHTJDDI.? povl, Agencies  were

allowed to make sall.

(IViLord Trwin abolished tax on

It
k/m)ru. 11

@y 111, 1V, 1

(2 11, 1L IV
(4 I, 111, IV

NTSE(Levael-1)(P-II)Exam. Nowv, — 2018

{10}

16. 198 Fe @ gim § gE T
dast i B4 F qE e o

(1) wEEam o HEFED @ Sy |

(113 5 &1 HEEET WS |

(D aaf & e &)

(VTG od wesfi 5 9T ST
F gl SR

(1) I 1L, 110 (2 IV, I, 1

(3 I, IV, 11 (4 L ILIV

Fraffgg & & F9-8 T HERAT

Tt BT @A oEET AelEd &l

qEAE AEE BT GEE w0 B

ey 0 waf g 7

@ w9 F aril 7 wiEl ' W
S 4t

(11 Bfesr w9 5 96 T OFT @
Ty &)

(MDFHF 91 | ST
R e & e
avyend T A T @ e R
|
(1) T, 11, I
(3 L1V, 1

L7,

el

2y 11, 111, 1V
4y I, 11, IV




, ;f&’smﬁ_?r:mmﬁﬁlmfﬁmtmﬁﬁﬂmmmmﬂ%mh&m%ﬁ

L A R S R R SR g i S R e e e e

18. Which of the follnwing statorments
are correci in relaticn tw the orea);
depressicn of 1929 in Indis ¥ It lod
1.-1:" —

(I} Becline in trade

(111 Steep hike in wrheat prices.

(ITT Giverarth n indusztria;
investaend,

{IViFall int juie prices.

(1} IT, i1, 1% (0 TO1T, 11

) 1, LI, IV }d')/I 1L, [V

MHrection : (. Mo, 19 10 2

Bead tho Lhi
vorrech snswer from the options given

el

rtaremenis and  saloct,

(1} Statement T ia teoe,
Statement 1T s false.

£2% Stdtloemment | ois Falac
Srateroent [ is true.

{3) Both Slatements arc fruo  and
stacemenl 1L provides explanasion ko

statamen’ I

(2] Both  Statemenis but
doas

napla nadian of sratemont 1

an:  Lrun

statemont 1] nil  provide

NTSE(Level-1)(F-1bEram,. Nov, - 2015

(11}

18 WA T W 1429 H{OmEmel 4 ey
§ 91 o w7
T AT g
{I) =R 6 FrEe |
a0 T2 & ot F iz
(ArAEnfE e ¥ 2
(FVYe[E 2t & Proge

(Ey I, ML IV 23 1,11, 111

&y 1 III, IV (41 1Ty

faZyr ¢ (e Ho 19 & 22)

7 R m o @ R i B om
T O O TR TR W e FiR

(1 ¥=9 1 &8 &,

o 11 Tead B
2 W 1 AT B
B T1 HE 2

(3) 4 WY md E w1 oFMd T A
T F B

(4) 641 B TR, W 4w 1 T ]
cile: e e

P T. 0.




19

20.

21.

Statement I : Long years of war
and the cost of extravagant court
of the king drained the financial

resources of France.

Statement IT : Only the members
of the third estate had to pay taxes

Lo the state, l\\ U":I

Statement T : Russin's army lost
badly in Germany and Austna in
1914-1916. All able bodied men
were called to the war which led to

scarcity of bread.

Statement I : Tsarsl aulocracy
collapsed in 1917,
>

Statement 1 i Railways wore
essential for colonial trade and for

the movement of lmperial troops.

Statement 11 : The forestz around

the railway tracks fast started

)

disappeanng .

NTSE(Level-1}{ P-INExam. Nov. - 2018
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19.

20.

21.

e L oo gHd d oEd @ 9w o

T % SE & oE == &
w7 anfle dame Ao & T

o 1L : e g & & weel @

11 ) HT A B A

g 1 : 1014-1006 # &y F W
g o 3 anfgm # oarft TEw
frelt 1 gnfits =0 & 93 i e
A ogE % ogw G o B s
T # FH B TEE I B OR

woe I : & 1917 § @oml @

# B

w1 @ SRl s ol 9
el & gom awEnE  Fo e
T BT STHIE o

o I TH-Eid & se-aE &
g9 i & Rgd 89



22, Statement | : Simon commisgion

23.

was opposed by all the political

parties in India.

Statement II : Lord Trwin

announced inclusion of 80% Indian

members inlo the Sumon
Commission. [-\E)

Arrange the following historieal
developments in a chronological
sEQUence -

(I} Unification of Germany,
(IT) Unification of Italy.
(IIT)The French Revolution.
(IV)Treaty of Vienna.

(1) L IT, I1I, IV

BV, I 1

(3 TL IV, IIL 1

(4) IV, I, 111, 11

NTSE(Level-1)(P-1)Exam. Nov, - 2018
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EE{-

23.

A

‘ﬂﬂl:mﬁ%nﬁnmﬁrﬁmﬁ
Y WESH-H49 F R B oo

9 11 : @ sl ¥ aEw wlhe
q 80% wredlg gesll 1 owfee B
F A "o w6

Frefftn  dfoefes sl @ |
FIAFHAATT ZARE Y -
(I T 2 e |
(IT) Z=xI1 1 TR |
(111 sl sl |
(V)i & HiE |

(1) I, I, 11, TV

(2) I, IV, 11, 1

(8) 11, IV, I, 1

) IV, LILIT

P.T.O.




24. Arrange the following histerical
developments in a chronologeal
SEQUETICE -

(1) Poona Act. ﬁ.f’"ﬁ =

(1) Lahore congress : demand of

"Purna Swaraj',

(IIT) Establishment of 'oppressed
class Association' by Sh. B. R
Ambedkar,

(IV38econd round table conference.
(1) I, I, 0L, IV {2) UL IV, ILI
\};}’11. IIL IV, I (4) IV, IL 11, 1

25. What does Mahatma Gandhini's
popular image in short dhoti and &
spinning wheol depicts ?

“Belf relience and resistance
to use of British mill made

¢loth.
(2) Easgy and convenient way of
lving.

(3) Living like a poor farmer in

[ndia.

(49 Depiction of an indigenous

imagea.

NTSE(Level-1){P-1I)Exam. Nov, - 2018
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24,

25,

i 511 A O R
FRAHEANTAI gt ol -

(1) AT Al |

(1) A wfEes
i |

‘oot T

(111) S &1, a7t. afdesy BH1 aia
Gl ERNEIE e R il

(AVyEHTY Terss 7 |
(1) 1, IL, 1IL IV (2) 111, IV, IL. 1
(3 ILILIV.I (4 IV, I IIL1

qerer o @ Bl ad 9 e @
e uRy, sur gutd B 7

(1) AT od ffen e & oA
R &1 i
(2y amER T g S G980

(3) W0 & TiE B #@ AR W

(4) w=aT ufy A osuln



26. Certamn minerals may occur as
alluvial deposils in sands of valley
floovs and the base of hillse. By

which name these are known ?

L}]Xf'/l;ﬂnr deposits

{2) Manpanese nodules
(3} Bromins

{4) Malleahle

27, Other than cuwrrent fallow land is
knovwn as -

(1) Left without cultivation for
on¢ or less than one

agricultural year.

‘/(}‘J/f-eft uncultivated for the past

© 1 to § agricultural year,

(3) Area sown more than once in
an agricultural year,

(4) None of the ahove.

28. Which one of the following are not
used into rain  fed  storage
structures that allowed the water
to stand ¥

(1) Khadins (2) Johads
(3 Pit J&jﬁlm‘ Pani

NTSE(Level-1}(P-II)Exam. Nov. - 2018

115}

A

26. WelEdl & sMm o owEl aw oS W

A oowie & w0 F ap afe oge R
1z P A & s s ¥ 7

(1) @hT
(2) Fariter wifire
(3) FHEA

(4) g

27. GUEH 9T 9 # AEoa -

(1) &8 0% §H 79 9 398 +% T
q &t 9 9 8

(2 =8 1 8 5 g af g o&h g
T B

@ o W F oF § ofw e
T E i

(4) SuiETr § | %2 98

. frefie # & Bar a9 @9 o

& & e wd g2 fem s ¢

(1) 'EH (2) e
(3) 75 (4) T g

P.T. O,




29.

These are species whose
pupulation has declined are know

H&S 2
(1) Vulnerable epecies

(2) Endangered species

-
V—fﬁ';l‘f]"'}xtinc: L apooes

a0,

(4) None of the above

To which one of the [ollowing
types of vegetation does rubber

belongs to ¥
(1) Tundra
(2} Himalayan

{3} Mangrove Forests

Mﬁ:piual Evergreen Foresls

al.

In which of the follewing state is

the Manas Bio-resorve located 7
(1) Pumah
(2} Aesam

(3) Kerala

LL;J.?”T.:}J'isﬂ

NTSE(Level-1)(P-1I)Exam. Nov. - 2018
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29,

30,

31,

I ol Pl dem oae 08 ¥ @)
Foamil & ¢

(1) e e

(2) TwewE

(3) A e

(4) suilea § 4 S =

e & ydy Feiofam § 8 W
R A 7

(1) &4

(2) FemmT

(4) TEE T

(4) SoTHREd a9f &

eE T Hew FrEg wig § -8
U H Fem & 7

(1)
(2) AT
(3) Sw
(4) dgrar



(17)

42, The movement of the plates
results in the building up of
stresses within the plates and (he

continental rocks leading to -
(1} Ernaion (2) Weathering
(3) Folding l\/{ﬁj All ahave

33. Which name is given to the
periodic development of 3 warm
ocean current along the coast of
Peru as a temporary replacomont
of the cold Peruvian current ?

{1} Kaal Baisakhi
El Ning
(3} Monsoan
{4) None of the above

34. Which one of the following
statement 18 not true ¥

.._,,ﬁ"j; Conl that has been burried
deep  and  subjected  to
increases  temperatures  is
bituminous coal.

(2) Large reserves ol natural gas
have been discovered in the
krishana Godavri basin.

{3) The monazite sands of Tamil
Nadu is also rich in Thorium,

g”é} Photovoltaic technology
converts sanlight directly into
electricity,

NTSE(Level-1)(P-II)Exam. Nov. - 2018
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32, < & M F Fw @F & spav o

b,

34,

2 O I A € R | o T
e w0 B F ) s yirneeey
ey et Reand ot @ 7

(1) #9TEsT (2 AW

(3) T (4) TR ol

38 T8 oW a9 § EmF W e
G I R T
e femr ma & ¢

(1) % e

(2) T A

{d) AEEA

(4) Tuiem F |/ FE S

Fpefeies 4 & 9w =99 oft 787
e

(1) w0 5 v aifs GyEE @
ofer Wl B REEfiee e
T E |

(@) FE-ied T A § ke
T & e gvEn @ o )

(3) g 4 B ael g
WA aTas & oaEr o &)

(4) Wit Aers defE am oo W
e fagd  afiafife fem o 2

P.T. Q.




3a.

A6,

In lndia this primitive form of
cultivation 18 called by different
names. Select the correct answer
using the code miven below -

{1} Madhya Pradash (1) Pumn Dabi ox

BEoipan
{£) Odiaa (i) Bewar or Talbive
(2 I Western Ghats {6 Jhomming

(43 Norch-Fast region  (iviBuman

(1) 1, 21, 3w, i
(2) 1-, 21, 9-iii, 4-iv

\,@j"—i_ 31058, Buivy

(4) 1-ii, 2, 8-, 1-iv

The following waterways have
been declared as the National
waterways by the Govi. Select the
correct answer using the code
miven balow -

(1} Allabobod and
Haldia

(1 Kalinnal
Walvrwaye Mo

{2 Rottaporam-Hellam (30 W, W, Na.-d4

{1y Kakinada-
Puducherry stoaich

Gy B W Nn-2

of canals

{4) Sadiva and Dhubr  Gv)N. W, Na.1
WHIDTWIYSE

(1) 1-v, 24, 8-, 4-in

(2) 1, 2-ii, B-iti, 4—iv

(3) 141, 2-4ii, 34v, 44

1.th,;h-’i..iii., B-iv, 3-4i, 4

NTSE(Level-1){P-II)Exam. Nov. - 2018

36,

a6,

e ® grifes RBem @ S @9
1 1 s I LR A
SEF AH BU B o W =UA
aifon -

(1) e e (i TEEE W
e

(2p T8 A iy 37 m

() iy & o i g

iy 3T Wt mEEE A o]

(1) 1-ii, 21, 3-tv, 40
(2) 1-i, 2—ii, 3—iii, d-iv
{3y 1=di, Dsiii, Gmiv, 4
(4) 1-—dii, 2—1i, 31, 4-iv

(Lo = e i) - R G B S
T wemE At Ber w80 Ro
T HE H T F GY Fa IaL A
qu i -

{1} TR T R ) sy S
T

@) T F W () WEE wmr
g

3y sasrer ol ggeirdt (i wsNa wEMET
T HE F We-Ee Wl

(ay e o el & Ay gy s
A A A -1

(1) 1-iw, 2-1, 311, 4111

(2 1, 24§, 3-i1i, 4-iv

(3) 1-ii, 2-dii, d=iv, 4-i

(4) 1-—iii, 2—iv, 31, 4-1



(19)

4%, Malch the ollowing -

The miajor lron-ore Binios
belts in [ndia ot

{1} Culisa-Thiarkhand  {i) Karnataka (1) Sifea-sisz () wE |
Holt Ui

(2 Dhurg-Bastar- {i1) Goa and () {1 w-TEy (i) Tham e
Chanderpuy Bali Muaharashiva il L R

{2) Ballari {iti) Chattisgark (3 s R, (i) FEATETRE
Chiteadurga Tertiets quas
Chikksmanglaru i)
Tumokury Rali

{4} Maburashtra-Coa (v Odisa {4 ETTI-Shal giv) it
Helt 1

(1) 1—iw, 2=iii, 31, 4 (1) 1—iv, 2-iii, 31, 4-i

(2) 1-4, 2—ii, 3-iii, 4-iv () 11, 211, 3-1ii, 4-iv

{3) 1-ii, 3-iv, B-iii, 41 (3) 1=ii, 2=jv, J-111, 41

Jﬂe/lf—;u. 2-ii1, 3-1, 4 (4 l-aw, 2-11, 34, 4-11

NTSE(Level-1)P-IT}Exam, Nov. - 2018 P.T.0,



38. Choose in correci statement from

the following -

(1) Election of Indian president 18
dhirect.

AT ] Election of the prime-minister
18 direct.

(3) Minmsters are appointed by the
Presidenmt onm the advice of
Prime-Minigter,

(4) President to

presides  over

cabinet meeting,

39. Which of the bllowing iz nol a

parmanent member of securily

eouncil ?
{1) Britain (2) USA.
(3) China _(47 Cermany

40. Indian parliament’s consizts of -

(1) President, Viee President and
Rajya Babha

2 President, Lok Sabha and
Bajya Sabha

(%) President and Rajya Sabha

(4) President, Viee President and
Lok Sabha

NTSE{Level-1}{P-1I)Exam. Nov. - 2018
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i B.

38,

40,

Pt 8 @ el w2
(1) TR AR O A
(2) WUFH A A B

(@) Al wm R oSl @
i B i T B o e

(4) Tl welbmEw & dew &
FHl T B

Frs1 ® & guan o =1 e wEE
HA-H) e 7o i 7

(1) Fes
(3) =™

(2) &=
(4) S

T T f e
(1) Traid, SuTreeyla @ =9 q9

(2) T, Wi WA g T ol

(3) el g I A
(4) TR, IR T A ae



41. Choose  the odd  pair

personalities from the following -

of

{1y Mrs. Indira OCandhi
Narendra Modi

and

(2 Balram Jakhar and Shivreaj
Patil

(3 Narendra Modi and Sumitra
Mahajan

{4} Dr. Rajendra Prasad and Dr.
V. V. Giri

42, Wheeh of the following statoment

18 not correct ?

(2) Uttrakhand is ereated From
P,

(3) Jharkhand is creatnd from
Bihar,

(4) Chattisparh 18 created [rom
M. P,

NTSE(Level-1)(P-II)Exam. Nov. - 2018

41,

42,

Fr= =fmer 9§ 8 Bew e 9if -

(1) St 3R i § Tiw M

(2) T(H EE 9 [ ofem

(3) 7% G 3 gitEr gEEy

(4) 21, 9 meE 9 2 4L Pl

et 3 & f-ar w9 wll kv

(1) deAT & e =W 4 W
Ty |

(2) @EUE"s | WBH  oui-RY A

AT T

(3) FEE &= e e & B own

(4) ST W e uey giy & e
T |

P, 0




A : {22)

41. Who presides the Joint sossion of 43. #9% & Hﬂﬂﬁ AYSTH W ATEE
Parliament ? e BB 7
(1) President (1) T
(2) Vice President (2) I
((3) Speaker of Lok Sabha (8) TRE F
(4) Prime-Minister (4) W

44. Which of the following is nol a 44, F= ¥ 7 B9 T o qeth f

Palitical Party ?

(1) INC (1) e u L,
(Z) BJP (2) .44
(3) AAP (3) MY (AAP)
M7 RSS (4) T8,
45. Which of the following iz not a 45. Fr # & - AywaiEr & 7

correct match 7

(1) U Thant - Burma (1) 7 9= - 79

(%) Kofi Annan - Ghana (2) HE T - °FT

(#) Boutros Boutros Ghali - Iran (3) AW Y ol - $0H
{(4) Kurt Waldheim — Austria (1) i diemeny - e

NTSE(Level-1MP-Il)Exam. Nov. - 2018




46.

47,

An industrialist Mr. Bajaj has
made an invesiment of Rs. 10 lacs
Ra. 10
traiming and Rs, 5 lacs on moedieal

an  education, lags on

care of the employess of his
company, His efforts are towards
strengthening Lo -

(1} Working capital
\w/[‘.[uman capital
(3} Fixed capital

(4) Capital growth

If a farmer's cost of production to
produce one quintal of wheat is
Rs. 1800, then Govt. of India has
adopled a principle to have at
least MSP as bolow -

(1) Rs. 2700
J«ﬁ}/ Rs. 1800
(3) Rs. 3600

{4) Rs. 2000

NTSE(Level-1MP-11'Exam. Nov, — 2018
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46, TF iy

47.

A

Me =@/ 4 a9
el & sl o B § o s
T, ofgmer % 10 @ w9 o
R dmam 8 5 @m w00 @
fFae Al | aEE g g weEa a8
T AT N

(1) e gafl
(2) qFEm g
(3) st gl

(4) Uk T

T FEE A w e T A
T ST W 1800 &0 3
T WA HET A R OB FW ey
el T @ free @ s
B oo Fe R -

(1) 270 577
(2} 1800 w92
(3) 3600 To1
) 20400 T

i B




Assume, there are three famlies
liveg 1n a village. In family ol Mr.
Ramlal Elder son Mr. Amb-work
u@&_;_ﬁnlrtg amd younger son

Mr. Sumil & lawyer in distret

court. In family of E'r_'l_t_-,_ﬂl_'li}rln-!@

only son Mz Dinesh work in a

nrirhy factory of makmr.l:_ spare

= i

parts of motoreycle as an engineer.

In family of Mr. Mohanlal-has two

daughters-Elder Monika is8 a

insurance  agent  and | yonger

Sepma  runs her internet eafe.
Thus, what ia the ratio of economic
sectors in which people of this

village are engaged.

(1) Primary-20%, Secondary-60%,
Tertiary-20%

(2) Primavy-60%, Secondary-200,
Tertiary-200%

(3) Primary-20%, Secondary-20%,
Tertiary-60%

} Primary-20%, Secondary-20%,
Tertinry-40%

NTSE(Level-1}P-11)Exam. Nov, - 2018

48, 7= difen o T § 79 oiER 1Ed

% o vmee ¢ oftaw # Fmr A
st o dat 8 & R § oA
F A A ol T e e
B oo sumeltd & uftar H dan o
Ao B oo we & Ay e §
meg A daell A g e &
il B o TEAew # 9FEy A 4
et 1 98 &8 W d e W
W EE B o B A i gt
i =l & 56 W 3W g & A
B TS A R A A e

)

B

(1) HTeTHeE-20%, faeitsr-60%,
Tl 20%

@) urdlEm-60%, T 20%,
aefis-20%

(3 sraftEs-20%, TEdtTs- 205,
e T-60%

(4) Taio-20%, FadrrR-20%,
Al -40%



49,

37 by

5.

=YY Bank has R= 10000 crores
public deposits and interested to
atihze 7600 crores of its funds, In
vour opinon, which of the following
activity do you find more better
aplion for bank -

(1) by renovating all
branches

eXIELINE

(2) by deposit it to central bank

gpenIng MANY  new

branches

(4] by extending loans

Fallowing are some activities -

{A) Giving seeds and fertilizers
subsidy o the armers

(B) Cultivating wheat
(C) Making atta from wheat

(D) Providing storage facility for
the whent

Out of the

activity/activitios |

which
LFR

ahove,
relates
primary sector -

(1) A,B,D
@ A B
M

(4 B, D

NTSE(Level-1)(P-II)Exam. Nov, - 2018
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A

19, XYZ 9% F 9F 10000 FE 5o Hi

5.

wer @ s i B 3w ogmd &
500 FE Ho T oIwEm S =
B o fEm &, MW § #e-m
R F F R e @7

(1) A | gEmE et @
AR HA H

(2) Pl g F B aH 4d
(@) g A o o g i
(4y o Ry &0 o

Ffefian 5w afafiEr ¥ -

A Bt @t Al el "@m oW
AT &

(B) L & @ e

(©) W & sz TAR HE

M)W TR & T odEm A g
WA Al

P T s O S | O o 0 2
et 8 4 gy e 2 7

(1) AB.D
(3 A B
{4 B

(4) B, D

P.T.O.




A

31, Ineome alone i not o completely

6.

MGney does  ensure

adequate indicator of development
of a country, Which one of the
fnllowing statoment 18 incorrect
in this rogard ?

(1) Money cannot ensure 2
pollution free environment for
individual.

(2) Some people earn more than
oithers do,

respoect

and dignity for individuals.

(4) Money helps us buy material
goods and services only,

Mateh Columnl with
statement of Column TT -

the

Caolwmn | Cosbuimmm L1

When [ buy an elsoeie
mwon - and suffored clectric
ehock wlhile using it

A Kapht to | L
iniform

Whean | pareeled a mc-im!_
fromi poed alfice buol ot
drbwarad y=i

B. Right | n
Dhaose

{1 Riﬂ']'ll. Liv | 13
Eafoty BHTpRTY avatled,
matruetions o wadlimg il

yeas tagged ot

Wlean [ have iaken o gas
eommection, deabor inssted
e bo buy  sues Ty
thim wath the mnnactwn
bt [ dbenied

I Right o | iw
@egl
radressal

(1) A-i, B-ii, Caani, Deiv
(£} A-n, B-iv, Ca, D
(&) A-iv, B-iii, C-ii, D-i

A A, Bey, Co, Deid

NTSE(Level-1){P-II)Exam. Nov. — 2018

Whon I buy & ahart From

(26)

al,

o8,

(R T I R G R e T
Hewrrm B o & ad B o= mee

NG e B T
?

=y

(B 91 &t & fEw udleer ge
qrerETY] e FE R A

(2) & @ o @ W F s
A W B |

(@ g & & fau
affie Fw ¥

() ¥ Fae i g o dmed
& HiET o wed w8

BlaH 1 & Bfaw 11 & 597 4 e
Fifam -

L

HiA -9

T e 1
A g |0 o B oom e S
Pt fiwry wid oft wim
T & o PRl =
= HER A e
B.oW9T H | i ow H oamEe & o
FERTL A e o oy
e fEferdt 1 &
CogT W | L W # g EieRe 8
RIEE e e e R
I d sl PR A
- “.'lh ;] ——
O, i | e 5 B e oW e
Froesh w1 | B @ € & pud am
ST G S S R

are e oiEE B oW
iR

(13 Asi, B-if, C-iii, D-iv
(2} Adii, B-iv, C4, D-iii
(8} A-iv, B-iii, C-i, D-i
(4) A-ifi, B-iv, £-4, D-ii




63. There are a variety of ways in
which the MNCs are spreading
their production and Interacting
with loeal producers in various

countries across the world.
Which vne is nol feasible 7

(1) By setting up parinership with
local companies

(2) By using the local companies
for supplies

By imposing restriction on

trade of local companies

(4) By closely competing with

local companies or buying
them
54, In & ABC, ZABC = 9%0° and

ZBAC = 60°. If bisector of ZBAC
meats BC at D, Then BD ; DC s -

(1 1:2
L,.-JEETT;JE
(3 1: 2

(4 1:1

A

(27)

53. U8 wgd wl A% § Pl = Tl
FRET (MNCs) e smmEd A
39§ Bl § ool @@l o wEE
ITMEH F WY I 99 T §

T # HA-H deg qe E 7

(1) il @aFEt & | dgEEr
CAL

(2 W & oft & R el sl
H FAT AT

(3 & w9EEl & &N 9
iEE TR

(4) ®ET FOEEl & A e
yieeel F% W I wJE

AABC #  ABC=90" &
£BAC=60" % R sBAC =
afEaTE BC # D W femr 2, 4
BD:DC % -

Ed-l-

(1) 1:2 Hﬁi B—%
(2) 1: 43
@ 1: 42
4 1:1
& ¢ ApD v CBR

22— 7S
Ba -

P, T. .,
Ap

—

e

T

BC




&b.

56,

8.

cube is x metres, I the surface

area of the cube 18 x gq.metres,

then its volume (in cubic metres)

- e
V(Efﬂ/ 1z
2 qaphroe

ig -
(1)} x?

(3) =

.;%'T_w_

ABC is n right angled triangle,
right angled at £B. I side AB is
divided into three aqual parts by
points DD and E such that D i=

A

nearer to A, than

A - BC?
Dot - et

] ﬁ.l
imequalto- ¢

1 &

(1) a @ 2= B

2
&) :a% L2
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BL = N>+ A

®

LR EP R

ot+b— -5

et

Czsk k= & s avb=-9
\ ac = 2N (20y DAL T 6 ax2h = ~b
) £ v — _1'
a and b are roots of the gquadratic 66. o &b [EEE 9T 24 Ged d = 0
equation x*+ Gz + d = 0 and a and %o & oAl a ol o fRAE A
¢ are mots tht' the quadratic M+ Bx + 8d=0F el g1 o
equation =2+ Gz + 2d = 0. If there auTlEd &l e # dEe 0 A
15 only one common root of the IR 99 2, @ J F gfES AW
above two equations, then (he E-
porsible value of o is - L S48
(1) 2 @ 2 _urd -0 (1) 2 (2 -2
i (4 4 o = (3) 4 (1)
Sum of the lengths of all edges of a 66, Bl 99 & ot T 4 #EEd w

g x At B 4R sy w9 gy
BAEH « T WET 8, 1 GEE SR

oA = 2 (g el #) & -

_:“_.-‘_".H.a.._
J-LE
e (1) »* {2) B
'L"ﬂ
(3 = (4) 2

67.

o

ABC % FpT B €, P 2B
wE B AR 4w AB & fEy D
AT E @7 ama aml § g\ gwn
it #30 & & D fig A & atfom
Mz & @l

AC? _Ec?

B - Be® ail

(1) 4 @) 2
(3 :z& (4) o

'
ACS axBes B
Ay

(2 B ¢ &
€L = mHBL




5.1 |
|| #‘ﬁ 13. III? &t ;':f} 1‘#*#;‘“““':;”“"‘3
> s () ST s (ue)
Va- © 0% n OF e
= VE . |
58. Thers are 15AP:s whose common | 58, 15APs %, Fr@ od  siar @eur
differences are 1, 2, 3, ..., 15 1,2.8,...15 % &8 & uds = 1=y
respectively, the first term of cach = lﬁlﬂi’ Fl% 154 = w1 A
being 1. Then sum of their 15th e~
terma is - - v Y
Y (1 W “'"' b
| o= B2y
Lj.l’ﬁ—ﬂﬂﬁ (2) 1792 2\ \ [ B9 1695 (2) 1792
4L g
(3) 1800 (1) 1924 57 5 WL (3) 1800 (4) 1924
LS h.
7T
59. ABC is a triangle in which 59, ABC U% RBqa 2, Rrad AD = 10 &9,

AB = 10em, AC = 24cm and
BC=26cm. If AD i= its median,

AC = 24 ¥t T BC = 26 849 2
afr AD Th mitmm B @ AD &

then length of AD is - o s B -
(1) 12 em 12.5 cm (1) 12 &4 () 12.5 a9
{3} 13 em ) 14.75em L (3) 13 &= (4) 14,75 B
B ay n .
60. The decimal expansion of the 14588 AT
14588 g0, g BT60 R
number will -

(1) terminate after two decimal 2%y (1) 3 TMEY e A T B
places : E‘E’L

(2) terminate after three decimal (2) & FITE W B " s |
places '

\_f})/tﬁ;ﬂ]iﬂﬂtﬂ after four decimal (3) = SIEE BT S = S e

place

(4) not terminate &

l ca}aﬂiﬂ:lﬁfa"hm
O N gl

NTSE(Level-1)(P-IDExam. Nov. — 2018 P.T. 0.




61.

62.

G,

All the zoroes of the polynomial
x'+ Zx¥+ g are also zorocs of the
polynomial 25— 21— 484+ 3+ 3x+ b
Then, the values of ¢ and b are
respectively -

(1) —1 and 2 UEKi and -2

(9 land—2  (4) 1and?2

Present ape of a [ather 1s six times
his son's age, After four years, the
age of the father will be four times
his son's age, The present agos (in
years) of the father and son are

respectively -

61.

G2,

g%

(1) 24 and 4 F a6

(2) 30and5  MRHAQUE =Gt B Y
¢ (336 and 6 Lyg— 1

(4) 28 and 7 =t

The largest number which divides
74 and 127 leaving remainders 7

and 10 respectively ia
SR

(1) 845 (2) 458

w'a

() G5

. NTSE(Level-1(P-IDExam. Nov. - 2018

6.

| % &

IR &+ 2at+ o § @ gEFE TEE
Wt — 4+ 3025+ 3x + b F W
g ) a4 o o b F A F
i

(1) -1 afT 2
(3) 147 -2

(2) -1 &Y —2
(4) 1 4T 2

OF T & FeE @y a9 W
&g B 6 T 6 T o 5 o9E,

o ® O OH Wg A4 A
el R @it g3 & e e
(gl ) A B -

(1) 24 aftr 4
(2) 9035
(3) a6l o
(4) 28 3T 7
g8 wae I dun Pl T2 o 127

W Rl w0 uy s eee 7

AT 10 amE E R -
(1) B4o (2) 458

(d) 65 (4) 13

13 3%



.

B4,

&)
A P

(L) (a9)

The line segmeni joiming  Lhe
pointe A2, -2) and B(-7, 4) is
* trisected nl the puints P and @ (P
ia nearer to A). If coordinatez of P
and @ are {an) and (-4, b)
respectively, then the wvialues of

a-and b are respectively -

b= B2

2

{1) 1 and 2

L A%r—1and 2

6.

66.

{3} 1and-2 (=

1‘_:@'”
s oo &7
w k™ — N
is equal to -

(4) =1 and -2

cost —mnd+1
poal + and -1

(1) sech + tant
() sech — tant)

4B cbsect) - eotd

{4) cosecl + coth

From the top of a 60 m high tower,
the angles of depression of the top
and hottom of pillar are 30° and
60° respectively. Then the height
of the pillar i= -

(2} 203 m{ w2
[(1e]

(k) 20m

(%) 40 m (4) 4048 m

NTSE({Level-1)}{P-II)Exam. Nov. — 2018

—

i

(9

{31)

E-. {;_F-I }Hl)

64,

.

6.

-
Oy — ___-L_Eﬂ_ A
-

Figall A, -2 of B-7, 4 @
e @ TEEE @ OEg P e Q
ffm &0 2 (P g A & ot
frere Bl ok P oiir Q & FEwis
HL fa, o) AT (4, b} B I a
#HT b S FHL I E -

() 192

(2) -142
(@) 13fr-2
(4) —1 3w -2

eoabt—mn b +1

eosd + aind -1 % ‘

{1) sect + tand
{2) secHl - tanf
{3) osecd — coth

{4) cosect + cotd

60 Wle FH 0F WAN & frET 8@ o
i & i ol e WY & sEqu
v e 800 o s0e ¥, wi

i dad B -

(1) 20%s (2) 2043 flo
(3) 40 4lo (4) 4043 o
P.T. 0.




67. Tha diagonals of a guadrilateral
ABCD are perpendicular to each
other. Then the qguadrilateral
formed by joiming the mid-points

of its sides {in order) is a -

AT kite

(2) rectangle

g{ﬂjfl;h nmbus
(4) squarc & )

68. In figure, PQ 18 a chord of a cirecle
with cenfre O and PT is its
tangent at P. If ~#QPT = 60°, then
LPRQ is -

(1) 105°
(2) 1150
L{ﬁf’iﬁﬂﬂ
{4) 130°

- NTSE(Level-1){P-1I)Exam. Nov. - 2018

67,

68,

Rl e ABCD & fl Wi
We 1o, oW oagde o womedl &
neg-fergat & (@0 @) e o a9
HIE SHT ¢ OF -

(1) wem

(2) S

(3) FTEGY

[4) 71

AR H, PQ %= O a0 79 @ 9%
Wi B o ¥y P W PT aF9 0%

wst ¥ ¥ 9 £QPT = 60° B, &
ZPRQ ¥ -

o R
P T
(1) 105°
(2) 115°
(3) 120°
(4) 130°



(33)

68. A momento ig8 made as shown in
the Lgure, Its base PBCQ is silver
plated from the front side.

] {‘
.;543'.;_ 4
- -
3 /"‘-.I"TTE
The silver plated area is
(m#aﬂi) -
7 \oey — Y& w19
(1) 11 em? Y
L Tisemt oo ey
(3) 12.5 em# T wa
() 13 cm? lj’ﬁ@ﬁ-g
o

70. A bucket is in the form of ‘aw |
frustum of a cone and it can holds
2849 litres of water, The radii of
the top and bottom of the bucket
are 28 em and 21 cm reapectively,
Then slant height of the bucket 1 -
['.IHE I | —

(.

(1) 15 cm
(2) /246 cm
kA 253 rm

(1) +/274 ¢cm

NTSE(Level-1{{P-II)Exam. Nov, - 2018

A

69, gl d wafy oA wF G AEE

0.

™ B TR MR PBCQ YT & &
A =9l ) wmd sud 9 B

s/

did] & weE R A W A B
{F%maﬁﬁq:-

(1) 11 8

(2} 11.5 2

(3) 12.5 T2

(4) 13 f2

U Al 9 F ok e A TR
B ® a gwd 28.49 e gt on
o ¥ oI A & I o R
Ml % Bewd geen 28 @ af
21 4t & ma zw awd & Tadw
dad B -

(1) 15 &

(2) J2d46 ol

(3) 253 w

(4) 274 A

= o




A (34}

Tl Two dice are thrown al the same

time. The probability that, the
sum of two numbers appearing on
the top of the dice is greater than
6 but less than 8, is -

1] et 4a2) (a1 (Ma4]
8 (2) () Ea3)e
1 [’.’n'l.j (‘1:_.,:55 (2953
(61D (%2) (5%)

(55 (532 (553

|
p3
W
b

D

SR=E

76 9
41
4y =
(4) 5
T2. A poreon can row a boat at 10 km/h
in still water. He takes two and
hall bours to row rom A to B and
back. If the distance between A
and B is 12 km, then the specd of
the stream 18 -
[ u‘c: -?*L‘) X
(1) 3 lemfh '
o 1 B T -
Lﬁﬂ% T
(3 2 kmlh 2N, O = E 4
9
i4) 1% km/h |0 - L.; =
NTSE(Level-1)P-II)Exam. Nov. - 2018
=0 GOy —i
J_'Ll L S——

26 ... 5

71,

(195 (196)

iy
) (245 )= 5 )36
1y (33)

(a5

72,

14,35:1:3 [Hf’ ﬂ_J

g ol @ o A R W B R
oWl % SO0 T U A am
el & 4 6§ aftw g3g o 4
=0 0 mizma B -

Caa6
{2) l}

5]
@ =

(4)

@)

o A 9iF 99 T 10 Bl @ =
W9 E EEN G AAB T AN
ﬁaﬁtﬁﬁtf{mﬂmﬁﬁ:ﬁé 2
aqug A B OR A SR B & d= @
i 12 Pl B, & o A oam B -

(1) 3 feie

(2) ﬁi el
(3) 2 Pt

(4) 1% Rt



{35)

78. In the figure, pomnte P, @, R and S
lie on a cirele, Then the values of
% and y are respectively -

(1) 47 and 100°
L/,.('J'}"Gﬁ“ and 110° L& —10
(3) 50" and 80°

(4) 30" and 120°

74, Difference hotweon syatolic and
diastolic blood pressure is known

R —

)=

be

{1) blood pressure .-_f:“

Vr(fi' cardiac output

(8) pulse presgure

{(4) heart boat
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A

73. oM H fig P, Q, R 37 8 uF an

T4.

0 fem B 58 x AR v & WA EEY

(1) 40° 37 100°
(2) 35° &rT 110°
(3) 50° A 8O°

(4) a0° AT 120°

ferfors @ smeifos 9 399 @
O R

(1) T 74|

(2) 50 WECE

(3) o T4

(1) 70 #EA

P.T.O.




75

Th.

77

. About what percentage of hving
species are in danger of extinction 7

(1) 20%
{2 10%
(3) 30%

(4) 1%

Entry of water into roothairs is an

example of -
(1) Diffusion
{2y Tmhibition

Lﬁ {amosis

(4) Plasmolyais
. Tendong & ligaments are types of
Lissue -
:.'_'_'ﬁs{:ﬂl-tstula.r tissue
() apithelial tissue
() nervous tissue

i filirous tissue

NTSE(Level-1}(P-ITI)Exam. Nov. - 2018

(36 )

78,

76,

77.

s e afem ofifEe  wenieEl
fogea 89 & w9 E 7

(1) 20%

(2 10%

(3) 30%

(4) 1%

lg@frﬁﬁ q 9+t & oy F= ®
T ¢ -

(1) T

(2) T

(89) sftefim

(4w

fed ug T B oER & &0F
5

(1) 95T =R
(2) TEE FE
(3) dfEE HTF

(4) TEAH ks




78. The organ which spider use to

propare web s -
(1) Spinnerates
(2) Spicules
{3) Spiracles

{4} Carapace

79. Vanations are important az they

produce -
{1) Adaptations
{2} Flimination

\/(,3} Fvalution

{1} Selection

B0, Mode of nutrition in cuscuta is -
(1) Saprophytic
(2) Autotrophic
B Parasitic

(4} Insectivorous

81. Structural and functional unit of
kidney is -
Cér Fephron (%) Ureter
{3) Neuron (4) Urethra

NTSE(Level-1)(P-I)Exam. Nov. - 2018

(37)

A

78. 9% & PR B R AT o
AT A B -

i1} TRTEd
(2) T
(F) HEigey
(4) FATIH

ffterend et ¥ o 4w
FA1 & -

(1) S e
(2) FET A
(3) AE
(4) =4

8.

A g g e g E -
(1) HEE
(2) T
(@) qriEl
(4) e

81, T8 (kidney) # =T T FHES

TR & -
(1) ==

(@) =it

(2) TRT
(4) T




|

82, Lateral ventricles are found in -
{1} Cerehellum
___'I;E,'I'-ii.:_:ﬂﬂ.':hrﬂl hemisphere
(1 Diencephalon

(1) Medulla oblongata

83. Cessation of menstrual ewvele is
called -

(1) Puberty
(2) Menarche

(3) Pregnancy
dé)/hienupause

84. Exchange of gases 1in human

GCears 1n -
(1) Trachaa
{2} Pleura

(3) Bronchi

\‘},&f/ Alveol

NTSE{Level-1P-IDExam. Nov. - 2018

(38 }

83.

g2, oete APrwen T o

(1) TfEem o
(2) Titem e o
(3) =gtadas |

(4y Fgen SR

ot =% a9 89 # FE B -

(1) =Ed
(2) T

(3 foreed
{4y TN

ad. wet # He faf e d A @ -

(1) 2
(2) I
(3) dad

(4) vl




85. Which of the following digpase is

only due to external cavses ?

{1} Hahetes

_A%) Avthritis
(3) daundice

(4) Cataract

86. High yielding varieties of wheat
wore initially developed by an
Indizn scientisl by cross breeding
the traditional varoties with -

(1) Mexican Varieties
(2) Furopian Varieties
.‘;B‘}/ Amercan Vanetics

{4) Afrvican Varioties

B7. ILS-82 and B-77 breeds are of
following -

(1) Cow
VWEWI
(8) Pig

{4) BufTalo

NTSE(Level-1}P-11}Exam, Nov. - 2018

(38)

A

85. Frst 4§ F-d 9 gaw am
FE 3 B R 7

(1) 7Y
(2) A
(3) diferan
(4) TR

86. YE-U& 4 N2 & afer fmEm 33
Tt wAf e e A 3
e weie @ Ry wely & ey
I AT F R -

(1) BT W

(2) TS e
() SFITFT S

(4) SnblE YA
87, 1882 ud B Frer & & Fmal
iz # -
(1)
(2) 7
(3) 43
(4) Fw

P.T. 0.

N




A [40)

88. A dynamometer 1 is attached to
two masses m, = 3 kg & m,= 5 kg
Foroes of [} = BN & f, = 25N are
apphed to the masses as shown :

The dynamometer will read -

e 5 foy
oy BB O B8 o1, 5 54
AT 10N 3 el
{2) 15N ® 3
(3) 14N i “n g
M) 6N

89, A packet of woight W was allowed
to fall freely in a water tank with

acceleration  'a'  (<g).  ‘The
magnitude  of resistive  foree
offered by water is -
1) wt W=
[+
@) wl : ; ﬂuu\)
; W (%"
S I—E]
., & o
w} < "-:S
(1) u-[n!l]
&
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B8, mF  EERAEET D,

59,

G-
m =3 kg T my =5 kg & 7= 5|
9 "Eq dfit 25 e & 4 &
feerrar = ¥ | ameiter 5w
3

s s n s oy,

(1) 10gew
(2 16 e
(3) 14 ==
(4) 6™

W b ¥ % B, ot & oA
EEETEE @ e (<g) 8§ fEn

T 9 & S T AR &
B

i1} ws
i1

{2) w—

o 2

(1) m[l 4 EJ
£



(413}

a0, The displacement time graph of a
body in motion is given as below -

Time (&)

g 2
. o

Dhsploctment fm} —*

Velocity of body 18 (in mfe) -
(1) 3 (2} 1/3

(3) 3 L,;ﬂr;—q

91. VS5 graph of moving body in
straight line is as shown m figure.
Which one among the following ia

ol true
I|'|Ir]
5
i1) Motaon 18 uniformly
accelerated.

(21 Corresponding s graph wall
be parabola,

1/({’5 Initial velocity of particle ia

pA2H LR

{4} Velooty is fime vArying

NTSE(Level-1)P-II)Exam. Nov, - 2018

ai.

a2l.

A

o emn a%g S RE-EE are

Fer & mafd @ -

] 307

TR )=
agy & (mis W) 7 -

(1) 2 f2) 1/

1
(3 V3 (4) 7

U Wi H o 96 W VS

() ove B 8 omERE 2
i W -a we u w5 R 7

1..?2

2
(1) " F um T R
{2) T at TG W wiEEy B
(@ T8 W e I g ¥
(4) M, A & E e ¥

P.T.O




92. The velocity of sound wave in a
given medium s V when its
frequency 15 v. The velocity, when

frequency changes to v is -

5V

(3) 26V

(2} V5

@

ﬁh":"':' ot “J' :""1?3_

93. A small block of material having X'

relative density 1/3 1s immersed in

y — higuid & released, The block starts
¥
\Gﬂ'ﬂ moving upwards with  an
acealeration 'a'. The value of 'a’ is
(g 18 acceleration due to gravity) -
A glem”
(1) g (2) 2g
e 3 Bg (4) 4g
2 X e
¥

B4. A wooden plank of length 'L reats
an a frictionless floor. A boy of
mass 'M' now runs over the plank
starting from its one end. If mass

MG,

the

of wooden plank is the

distance ecoverad by boy

relative to the ground will be -
(1) L6 (2} 5L/G

() L6 (4) 4LI5

NTSE(Level-1)(P-II)Exam. Nov, - 2018

@V ese ¥4

.i.ii!]

% 2 (3 asv

oz, Bl wom A af ot @ o9m v

Far o v & 9w @mi 5w #, A
wiy & = el -

(1) &V (2) VIb

4) V
= 0

93. W BR TF @ Fwe we oW
wifirs | L3 B oW AE W gEE
BIET T R e T A S

AT W B a' W™ WM BN
(g TEER =TT ) -

(1) g (2) 2g

(3) 3g (4) 4g

94, L) FER A OTF RS RO,
mu e GEE W TE 2| UE A9E
ol e M R, 5 TR $OOE
fert & = WS A © ) afE oeRst
& o W OEEEE MG OB, W o $

He AT B a9 g4 @l -
(1) 146 (2) GL/G
@ L5 (4) 4LI5
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85. A rod of length 1' and mass ‘m'
fixed at one end, is hanging
vertically, The other end is now
raised so that the rod makes an
angla 30° with horizontal line. The

work dome in thig process will be -
W

o
(1) mgl

V;ﬂj/;:glﬂ
a3
(8) mglid g Y

X,

{4y mgl/4

96, Graph shown V-l Characteristics
of two resistance their series
combination & parallel
combination, ldentify the

registances values & graphs -
X,

¥

NTSE(Level-1)P-II)Exam. Nov, — 2018

A

06, UF B TR BT 'm0 s

TR a9 oH B A 9Eh §EE
B g gut TR g 9= T
r #p @ & 800 & @ TR ¢
oo wiewen & Rear o @ g -

(1) mel
(2) mgl2
(3) meli3

(4) mgld

e B @ oRe, @4 A &
AT HaET @t V-l I B

T Ty & ofedef & ae vE ane
i TEE e -

P.T. O,




Hisinlonee-1  Baglsinoes-8 Herses  Paralled

(1) X Xy Ny Xy
) x X, i X
L_EE‘}"’" X Xy X X
1 = X Xy Xy

97. Two plane mirrors P & Q are kept
at 7 with respect to each other,
Light falls on P is reflected and
then fall on @ and is reflected, The
emergent rTay 18 opposile o
incident ray direction. e ? i

equal to -

(4) oe

NTSE(Level-1)(P-IDExam, Nov. - 2018

a7.

(2 Xy X
3 xy Xy X oMy

A T W P o @ uh gl @
W W T F g # s A
o7 TS § ogEd qEie e Q
weedl B ol g oot Al ¥

B s fem 4 fagdle R
BT F AR AT -

(1) 45°
(2) 30°
(3) aor

(d) DO° .



as.

29.

(45)

The mapnetic field intensity (B) at
distance 'r' from a long straight
atoady

conductaor carrying a

current wvaripg with v’ as shown

in Aguro -

" i %
\ ST

o @
| \L | \/_
@ @

The graph in fipure shown how the
inverse  of m:1g,rnili::r:ntil:ln:lr {1fm)
produced by a thin convex lens
varies with object distance 'n' the

power of lens will be -

/m
e
(1) blo :;,{thfca
(8) bela (4) ob

NTSE(Level-1){P-1I}Exam. Nov. - 2018

98.

A

wg g el A 2 v gl W
gt &= A e (B) gl

(1} (2
N K A ‘ :"’
(3) {4)

e # mafifr o 3 oF G S
8e & foo s & e (Lim) =,
g 7w & E ofeds e

1fm

— @ —— 0 —

(1) ble () hica

(3) bela (4} oh

P.T. O.




A {46 )

100, In the civeuit shown all the 100, FE # mife 9w g o

medsuring instruments are ideal. Y] A B | AT Ay T
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